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Question Number : 1 Question Id : 913943307 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes Single

Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ; 0

Which of the following is an indicator of key behaviour in effective teaching as evident from

researches ?

Options :

9139431201.

teacher affect in developing teacher-learner relationship
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engagement in learning by students
9139431202,

sissistsps BSINgG student ideas and contributions

use of process and content questions during teaching
9139431204

Question Number : 1 Question Id : 913943307 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
frefafaa ¥ 9 S 9 gR 9 e 6 SR W YO ST H g SIaeR o GohdE 2

Options :

ALTIF-Trenet ey faefad o | et =t vraeHssd

9139431201.

Taremelt gru St o dferean

9139431202,

forenet & Ta=mi 9o 39 AT 1 3TANT HE

9139431203.

ST o T WisharcHS a favgasg snenia WeHi &1 399

9139431204.

Question Number : 2 Question Id : 913943308 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the following statements identify those which relate to ‘Norm-Referenced Testing’ (NRT).
Select from the code to give your answer.

(a) Covering a large domain of learning tasks with just a few items measuring specific
tasks.

(b) Emphasizing discrimination among individuals in terms of relative level of learning.

(c) Focusing on aspecified domain of learning tasks with a large number of items measuring
specific tasks.

(d) Interpretation requires a clearly defined group.

(e) Interpretation requires a clearly defined achievement domain.

(f) Emphasizing description of learning tasks which individuals can and cannot perform.

Code :

Options :

9139431205. (El), (b) and (d)

9139431206, (b), (c) and (f)
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(a), (b) and (c)

9139431207.

(d), () and (£

9139431208.

Question Number : 2 Question Id : 913943308 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks : 0

Frefefad § | SFA-9 YA HHs geiid ghem’ & aR o €2 9 {3 T3 2 6 =9 it qen

T g |

(a) Fae o A HEl, forH oig ¥ ueA & fafere FEf o w9 ¥g Wik 2, % SR W
3T R =B B A |

(b) AT & WU R 6 AHR W Akl & 7 faig o Hohd W SR |

(c) Tord Tafire sTHem & Stferm &, T sifvier we fafire [l &1 WoF & €, W 9
<

(d) Trei=m & fad guRwifa e &1 savgehd el € |

(e) Trd=m & ford guRenfira froafa smaa #1 stavasar adt 1

) 37 Afm FHEf & faa | d 1 9% i 9 wed € HeEn 78 o Thd 2

G

Options :

(a), (b) 3R (d)

9139431205.

(b), (c) ¥R ()

9139431206.

(a), (b) 3R (c)

9139431207.

(d), () 3R (£)

9129421208.

Question Number : 3 Question Id : 913943309 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0
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In the two sets given below, Set - I provides the different levels of teaching and learning
while Set - II gives their exemplars and concerns. Match the two sets and select from the
code to indicate your answer.

Set - 1 Set - II
(Levels of teaching and learning) (Exemplars and concerns)
(@) Memory level (1) Encourages critical thinking based cognitive
interchange
(b) Understanding level (i) Protects personal interest and attitudinal
concerns
(c) Reflective level (it)) Facilitates recalling and recognizing of facts
(iv) Enhances scope for seeing of relationships and
meanings
Code :
(@ (b) (9
Options :

91394231209, (1) (11) (I_Il)
9139421210, (IH) (11) (IV)
9139431211. (IH) (IV) (1)

9139431212 (IV) (ll_l) (ll)

Question Number : 3 Question Id : 913943309 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ; (
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TI=E - 1 = - 11
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! ST ST |

(b) SEFAY 'R (i) At TEq qun sfrgfas He 1 ST
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Options :

9139431209. (1) (Il) (Hl)

9139421210, (H_I (H)

9139431211. (111) (IV) (1)

@) @)

91239431212,

Question Number : 4 Question Id : 913943310 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Yertical

Correct Marks : 2 Wrong Marks : 0

From the following list, identify the indicators of commitment areas of teachers and learners.
Select from the code to give your answer.

(a) ‘Do it well’ approach

(b) Developing contact with community

(c) Enhancing performance in classroom including teaching-learning processes
(d) Concern for the allround development and readiness to help

(e) Acquiring curricular and content competency

(f)  Respecting impartiality, objectivity and intellectual honesty

Code :

Options :

(a), (b) and (c)

9139421213,

(b), (c) and (d)

9139421214,

(), (d) and (f)

9139431215.

(d), (e) and (£)

9139431216.

Question Number : 4 Question Id : 913943310 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks : 0
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frefafaa =1 @ ek we fameff % afaesar &5 a1 = SIS | J& § 1 = Hioy w6
S A |

(a) ‘Sih WU UMM

(b) UG F WY Hoh T

(c) HarTa Froureq, foed foeror-sifam o6t ufskan wifder 8, 1 ifagg &
(d) waiTor fasrg % gfa foer w9 g wemaar 3 aw

(e) JerfUreR wE fomeeng & Hafua yeitorarsdi &1 o7siH

()  Trogern, sgfsar aun Sifgs SAMRR 1 9EH

Options :

(a), (b) 3R (c)

9139431215.

(b), (c) ¥R (d)

9139431214,

(a), (d) ¥R (f)

9139421215,

(d), (e) R (f)

9139431216.

Question Number : 5 Question Id : 913943311 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ; (0

In which of the following methods of research the independent variable has to be selected
rather than manipulated ?

Options :

_ Descriptive survey method
9139431217,

Experimental method
9139431218,

Ex post facto method
9139431219,

Exegetic research
9139431220,

Question Number : 5 Question Id : 913943311 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks : 0

F=fafad ¥ 9 g oy ugia & g == o1 =934 fean st =ifee, = T e =g o 9am1 2

Options :
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9139431217.

TS 95id

91394231218,
91394231219.

ATEATHE
91394231220,

Question Number : 6 Question Id : 913943312 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

In the list of statements given below which of them offer a suitable definition of research ?
Give your answer by selecting from the code.

(a) Research means a repeated search.

(b) Research is basically an answer to a question.

(¢) Research provides an authentic solution to a problem.

(d) Research is an endeavour to prove one’s hypothesis.

(e) Research is a meaning - giving process.

(f)  Research means drawing a sample from a defined population.
Code :

Options :

(), (b) and (c)

9139431221.

(b), (c) and (£)

91339431222,

(), (d) and (£)

91339431225,

(b), (c) and (e)

9139431224,

Question Number : 6 Question Id : 913943312 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

@), (b) ¥R (c)

9139421221,

(b), (c) 3R (£)

9139431222

(a), (d) 3R (f)

91339431225,

(b), () 3T (e)

9139421224,

Question Number : 7 Question Id : 913943313 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Ability to see and size up the situation creatively is most relevant at which stage of
research ?

Options :

o13043100c A2 the stage of identitying and defining a research problem.

Sissis In determining the research design and its execution.

In formulating research hypotheses and procedures for testing them.
9139431227,

In deciding and identifying the sampling procedures to ensure their representative

9139431228. character.

Question Number : 7 Question Id : 913943313 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Yertical

Correct Marks : 2 Wrong Marks : 0

Toret et ol GorTeaes &7 9 <@ a9 THSH i &THdl Y & (e R0 T Walieeh Ui § 2

Options :
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fordt SNY 9GS &t Y9 Hi adT 9 IR i ol <o |
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9139431225,

9139431226,

9139431227 MY YRBEIAT T SHh WAV T IGfaar & Fiadre H |

gfaesl =99 & 9§ o7 o qen acgst gfshansti &t gfaffues fadrarsti <61 gifiea &@
4

9139431228

Question Number : 8 Question Id : 913943314 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
‘Research ethics’ is of critical importance in which of the following areas ? Select your answer
from the code given below :

(a) Data collecting

(b) Preparing a seminar paper
(c) Data analysis

(d) Participation in a conference
(e) Writing a thesis/dissertation
(f)  Selecting a research problem
Code :

Options :

(a), (b) and (c)

9139431229.

(@), (c) and (e)

9139431230.

(d), (e) and (f)

9139431231.

(a), (b) and (f)

9139421232,

Question Number : 8 Question Id : 913943314 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



www.prepp.in . re p p

Your Personal Exams Guide
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6he

Options :

(a), (b) 3T (c)

9139421229,

@), () 3R (e)

9139431230.

(d), (e) 3R (f)

91339431231.

(a), (b) 3R (f)

9139431232,

Question Number : 9 Question Id : 913943315 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

While presenting the research outcomes and sharing the same with others, in which of the
following research type, the style has to be impersonal ?

Options :

Ethnoeraphic studies
9139431233, orap

! _L" _) 5 : = =
o Action research based studies

Causal comparative based Ex post facto studies
9139431235,

Narrative studies
9139431236,

Question Number : 9 Question Id : 913943315 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Yertical

Correct Marks : 2 Wrong Marks : 0

WY IO T L T 3 370 o Wi 9l 6 Sid ¥9a Y o f=fafaa § 9 f6e yer &6t
Y WhRA § T hT el TGS B Aied ?
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Options :

TSId ek 3T |
9139431233.

fsraTeeh STTHYUM AT AT ¥

9139431234.

HROTH] e ST FER AT H

9139431235.

ICELUIRIE R B r e e

9139431236.

Question Number : 10 Question Id : 913943316 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following methods of teaching will encourage indirect learning ?

Options :

Lecturing with examples
9139431237,

Team teaching
9139431238,

Demonstration on a subject
9139431239,

Collaborative projects
9139431240,

Question Number : 10 Question Id : 913943316 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
frafafaa § § -6 fremon ugfa staca sifarm 1 seEn < 2

Options :

ISTE0T o 1Y SARAM 1

9139431237.

3| ToreroT

9139421238,

fordt fama =1 fgeA

9139431239.

gfqurT senfa gfEsAT

9139431240.

Ty [y R vy ERRCLERCH o MBI, Ty R MRy y
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Sub-Section Id: 91394317
Question Shuffling Allowed : Yes

Question Id : 913943317 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : CDmprehensi-:}n

Read the passage carefully and answer question numbers from 11 to 15.

In noting the nature of human lives, we have reason to be interested not only in the various
things we succeed in doing, but also in the freedoms that we actually have to choose between
different kinds of lives. The freedom to choose our lives can make a significant contribution to our
well-being, but going beyond the perspective of well-being, the freedom itself may be seen as
important. Being able to reason and choose is a significant aspect of human life. In fact, we are
under no obligation to seek only our own well-being. It is for us to decide what we have good
reason to pursue. We need not have to be a great leader to recognise that we can have aims or
priorities that differ from the single-minded pursuit of our own well-being only. The freedoms and
capabilities we enjoy can also be valuable to us. It is ultimately for us to decide how to use the
freedom we have. It is important to emphasise that if social realisations are assessed in terms of
capabilities that people actually have, rather than in terms of their utilities or happiness. First,
human lives are then seen inclusively, taking note of the substantive freedoms that people enjoy,
rather than ignoring everything other than pleasures or utilities they end up having. There is also
a second significant aspect of freedom : it makes us accountable for what we do. Freedom to
choose gives us the opportunity to decide what we should do, but with that opportunity comes the
responsibility for what we do - to the extent that they are chosen actions. Since a capability is the
power to do something, the accountability that emanates from that ability - that power - is a part
of the capability perspective, and this can make room for demands of duty - what can be broadly
called deontological demands. There is an overlap here between agency-centred concerns and the
implications of a capability based approach. The perspective of social realisations will take us to
further issues central to the analysis of justice in the world.

Sub questions

Question Number : 11 Question Id : 913943318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (

Why freedom is seen as important ?

Options :

To succeed in doing things.
9139431241,

To have different life styles.
9139431242, ave different life style

To understand the perspective of one’s well-being.
9139431243,

 To go beyond the perspective of one’s own well-being.
9139431244,

Question Number : 12 Question Id : 913943319 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Why should we go beyond considerations of our own well-being ?
Options :

0139431245 To follow in the footsteps of great leaders.

To think of freedoms of others.

9139431246,

_—_ To appreciate that our aims can differ from self-interest.

_ To be able to enjoy our freedoms.
9139431248,

Question Number : 13 Question Id : 913943320 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is of no value for assessing social realisations ?
Options :
Capabilities of people

9139431249,

Utilities

9139431250,

. Inability to use the freedom given

lgnoring the values of freedom
9139431252,

Question Number : 14 Question Id ;: 913943321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
What is the inherent aspect of freedom ?

Options :

SO— Pleasures of freedom

STEBAETE Absence of actions

Accountability
9139431255,

Well-being of the self

9139431256.
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Question Number : 15 Question Id : 913943322 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The central idea of the passage is :

Options :

Emphasis on variety of personal 1ssues
9139431257,

Use of power for freedom
9139431258,

Responsibility for individual happiness
9139431259

Need for securing justice to all
9139431260,

Question Id : 913943317 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehensi-:}n

TENYT ehl & | UG 3T 999 & 11 9 15 &I S
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T Rga: T ST el W E A T B e T 1 B o ST AT WIey, 9% TR Wiaas W
fit ¥, 39 910 W e 3 HewgUl § 1 9% femm & fau f suR oey i w0 8 Shad e feq anE
F i ¥ T8 R TEM a1 S i STEvashal el § | THRT s au amal off TR fod qewer €1 siaw:
T TH € T8 A1 ¢ Toh o101 Taa=ran 1 &0 9 YR SUam &< | I eanasa fawa =g 2rm fob <t &1 o1ut
grael % STEY 7 6 ITRT STATT 91 G@ T 1 &7 W A Syafsua faeft g8 €1 yemaan 39
qfided H He SiaH ol Ueh SATqhdl YT & STl § FSas <l ol It STsTel 3uerey 8 e 39 feufa &
ot Syifian o stfaftea o= el o1 SUel SR B 1 STISTISl o1 ek U1 Hexaqul 37/ off ¥ iR 5% 9 foh
S TH H €, U6 T3 70 Tl STereey ¥ | 9 1 ST g1 g I Foia & w1 st fiyeran © o e
T LT FM1eT, T 39 ST hi AWl 6 G- Ig siaeeel off st ¢ for 26 form W a6 =
fehed ol @ o1 TSI & | Ik1: |THed, P i ot viferl B, o] 39 WHed § YHd Sareed! ohi Ui 39
gredf ¥ afiied o o ¥, SR 9% ey I 39 T o Ant yer et § A wr ' | 38 uftomy fde
T el S Tehdl &1 TR 3AT9epai -~ hfgd SR a0 9w nuiia S9m & fAfeard & 7 anfa §1
qrTfsTer IS 1 A€ URUET TH ST Yol i AR o ST i fage § =i it % J&7 Tas & |

Sub questions

Question Number : 11 Question Id : 913943318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TS Shl HETEYOl i | I § 2

Options :
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9139431241

9139431242

39 fed & IRUeT 1 THeE o ford |

912942124Z

39 f&d o URed 9 W S & et |

9139431244

Question Number : 12 Question Id : 913943319 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TH BAR 3794 fea W &I €1 & W i Qraqn =Aifed ?

Options :

TEM i3l & Ugieal W I & fod |
3= &l WaIdl & IR H fa=ur & & fod |

9139431245.

9139421246,

9139431247 T I1d 1 U THSAT fF sAR a1eg W-Tea A = A 9hd B |
0130431045 ST TN 1 STIN FAH § GAY 39 & ford |

Question Number : 13 Question Id : 913943320 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

W‘m@m‘maﬁ#mﬁmﬁﬁmmﬁ@

Options :

AT ahl &THT

91394312495,

AT

9139421250,

Y WAl Sl STAM A H STIHYT

9139431251,

T o el I UL HET

9139431252,

Question Number : 14 Question Id : 913943321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0
i 8
TN 1 ST Ed Ige] 1 € ?
Options :

@A B g9

9139431253,

&1 T A A

9139431254,

SEIEE]

9139431255,

913942125¢. = lEETI%EI

Question Number : 15 Question Id : 913943322 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
RIS &1 51T 99§
Options :

AT Haal i fafae@r W SR

9139431257,

A=Al i Ifad Sl SUANT
SgfTeh G@ hi STarecel

9139431258.

9139431259,

g4t &l <1 TS ot STavaehal

9139431260,

Sub-Section Number: 3
Sub-Section Id: 91394318
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 913943323 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
When students place themselves close to certain communication sources, it will lead to :
Options :

9139431961 Source domination
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Selective exposure
9139431262,

N 1 hoices
9139431263, egative choic

Impersonal behaviour
9139431264,

Question Number : 16 Question Id : 913943323 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ﬁﬁmﬁwﬁﬁfmﬂmﬁw@ﬁ%ﬁ%@ﬁsﬂ%ﬂﬁm@wm?

Options :

1@39‘3@
TIARHE SATTHETHR

9139431261

9139431262

9139431063 PRICHD =

BEERIESERE N

9139431264

Question Number : 17 Question Id ;: 913943324 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

Assertion (A) : Classroom communication involves the clear decoding of messages by the
students.

Reason (R) : By increasing redundancy, we can improve the fidelity of communication.

Code :

Options :

Both (A) and (R) are true.

9139431265.

. Both (A) and (R) are true, but (R) is not the correct explanation of (A).
9139431266,

(A) is true, but (R) 1s false.

9139431267.

(A) is false, but (R) is true.
9139431268

Question Number : 17 Question Id : 913943324 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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ITUHIT (A) :  HENTA WYY <kl Terzmeff gr1 Twli o1 T foaha el S 2|
T (R) : srfaerrat H gfig e &0 SUuvr &1 favagiadr 9¢ 9 ¢ |

e
Options :

9139421265, (A) Sﬂ'{ (R) aﬁ Hé‘ %:l
(A) 3R (R) SR & €, AT (R), (A) F T =0 7 2

9139431268.

(A) §E &, AR (R) TTerd ¥

9139431267

(A) 7T B, oifeh (R) T2 B

9139431268.

Question Number : 18 Question Id : 913943325 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fleeting changes that occur in facial expressions of teachers in a classroom are described as :
Options :

Significant - momentary movements
9139431269,

Informational - momentary movements
9139431270,

Macro - momentary movements
9139431271,

Micro - momentary movements
9139431272,

Question Number : 18 Question Id : 913943325 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ey | forerehl b1 qETeRfa g1 =1 T sifreafad H 29 et aiforer 9ited wee €

Options :

qiefeh — &ftTeR H=ie

9139431269,

9139431070, A e — SIRERNEE
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ERS i MERSENE

9139431271.

ey - &1k e

9139431272,

Question Number : 19 Question Id : 913943326 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Identity the correct sequence of decoding process of communication in the classroom.

Options :

e Evaluation, Interpretation, Sensory involvement, Feedback

Feedback, Sensory involvement, Interpretation, Evaluation
9139431274

SresI Sensory involvement, Interpretation, Evaluation, Feedback

0159431576 Interpretation, Evaluation, Feedback, Sensory involvement

Question Number : 19 Question Id : 913943326 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HENTT FUYT 1 GiHAT o6 Wal fSGha 376 i U9 Hife |

Options :

qedieA, Te=r, sf=g—af-ewd, gfagfte

9139421273,

wfagfie, sfeg-af=e, fe=m, qee

9139431274

sfgg-af=ed, fa=m, geais, afayfe

91394321275,

9139431276, REEES Hed1ehA, W, sfeg-gfad

Question Number : 20 Question Id : 913943327 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match the following :

Given below are two sets. Set - I embodies the types of communication while Set - I provides
their exemplification. Select your answer from the code given :

Set - I Set - 11
(Types of Communication) (Exemplification)
(a) Linear communication i) Members are given themes on which they are

required to hold discussion.

(b) Interactive communication (i) A teacher in the classroom presents a
structured content

(c) Transactional communication  (iii) The principal of a college holds the staff
meeting for understanding their problems.

(iv) The teacher and students in a college go on
rampage
Code :
@ (b ()

Options :
9139421277, (111) (1) (l_l)

9139431278. (IV) (11) (111)

(i) (i) (1)

9139431279.

@)  (v) (uD)

9139431280.

Question Number : 20 Question Id : 913943327 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T & wg=a feu e ¥ woer - 1 ¥ 9unw % yeR fou T € Sefs wgea - 1 ¥ ST
TR a fhu T €1 = feu TTU e &1 =9 R 371 <R i

T - 1 TH= - 11
(YT o WehTY ) (geeieienToT )
(a) TET I () T @ i T fawdi ® == w1 & 73 F@
ST E |
(b) STRIHATHH T (i) el T Rereh U e faud T S ¢
(c) Toranfafaet o (iii) Tk WRIRIE R U4 IfeRHAl sl THE

e g ST 93 Sl ¢ |
(iv) WETeranerd | et wd feranel Sy #=md )

(@) (b) (o)
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Options :
0139431277 A1) (@) (1)

9139431278. (IV) (H) (Hl)
9138431279. (ll) (Hl) (1)

9139431280 H @v) (i)

Question Number : 21 Question Id : 913943328 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
In the sequence of numbers 5, 19, 49, 101, 181, 295, x, ...... , the term x is :

Options :

9139431281. 401

9129421282, 351

9139431283. 449

9139431284. 501

Question Number : 21 Question Id : 913943328 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
& STTHH 5, 19, 49, 101, 181, 295, x, ..., H W x ©

Options :

9139421281, 401

9139431282. 351

449

91294=2128=.

9139421284. 501

Question Number : 22 Question Id : 913943329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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If NTA14 and NTA15 are 5-digit numbers such that their sum is 157229, then N+T+A would
be :

Options :

9139421285, 15

21
9139431286

25
9139431287,

72
9139431288,

Question Number : 22 Question Id : 913943329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ife NTA14 991 NTA15, 5-3ihi Il U T=ad & S 9 157229 &1, a1 N+T+A &1 9H
IS

Options :

91329421285, 15

9139431256. 21

9139421287, 25

9139431288. 72

Question Number : 23 Question Id : 913943330 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A’s mother is sister of B and daughter of C. D is daughter of B and sister of E. How is C
related to E ?

Options :

— Sister-in-law

9139421290, Aunt

9139431291, Grandmother

Mother

9139431292,
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Question Number : 23 Question Id : 913943330 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

AR TABH TBIANCH TN T DI BH A AAME Fl o1&l CHE Y w1 fwan g2

Options :

9139431289,

EIEl

9139431290.

=

9139431291.

9139421292, ISl

Question Number : 24 Question Id : 913943331 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

You have recently joined a new office. Walking at 5 km/hour, you reach the office from
your house 15 minutes early and walking at 3 km/hour, you are late by 9 minutes. The
distance between your house and office is :

Options :

5 km

9139421293

8 km

9139421294

3 km
9139431295

2 km
9139431296,

Question Number : 24 Question Id : 913943331 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

3T BT & H frell 79 SFaiad W Ye9R TR0 fha &1 S| 319 379 R 4 5 foHw/se & = ¥
FAd € 1 379 15 e T8l FEiad Uge S € iR AfE 319 3 fordt /s i = | 9ad € 1 3
9 e X | FHEAEd Tgad & | 3% X | FHiad & g T -

Options :
5 Terdl

9139431295.

8 TRt

9139421294,
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9139431295, 5 iéﬁl“

2 Tl

9129421296,

Question Number : 25 Question Id : 913943332 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

Choose the correct alternative to replace the question mark (?).
42 — 26
71 = 78
33 — 16

62 - ?
Options :

68

9139431297.

o4
9139431298

38
9139431299,

39
9139431300,

Question Number : 253 Question Id : 913943332 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

I 52 (?) & H W W&t fashed o1 gHT|
42 — 26
71 — 78

33 — 16
62 — ?

Options :

91394231297, 63

9139431298, o4

38

9139421299,
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9129421300, 39

Question Number : 26 Question Id : 913943333 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Yertical

Correct Marks : 2 Wrong Marks : 0
A cluster of propositions with a structure that exhibits some inference is called :

Options :

An implication
9139431301.

An argument
9139431302,

An explanation
9139431303,

A description
9139431304,

Question Number : 26 Question Id : 913943333 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Optiun Orientation : Vertical

Correct Marks : 2 Wrong Marks ;

%Hﬁaﬁﬁﬁﬂaﬁm@wﬁwﬁﬂ% IY FET I

RIESIE

9139431301.

qoh Al

9139431302,

9139431303. A

IECIA

9139431304,

Question Number : 27 Question Id : 913943334 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Given below are two premises. Four conclusions are drawn from them (taking singly or
together). Select the code that states the validly drawn conclusions.

Premises : () Some flowers are red.
() All roses are flowers.
Conclusions : (a) Some roses are red.
(b) Some red things are flowers.
(c) Some flowers are roses.
(d) Al roses are red.
Code :

Options :

(a), (b) and (c) only

9139431305.

(a) and (b) only

91394313506.

(b) and (c) only

9139431307.

(c) and (d) only

9139431308.

Question Number : 27 Question Id : 913943334 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
== 1 SUR 9 T T ¥ g SNUR AR | IR Tk e 13 1S9 FE /9IS
WTHIOTeR &9 § Teptel T (SR a1 ol STohet 19dT Tgad &9 ¥ o gu) Freend / frreef &1 gwiian
gl
AT AT : () TS BA AA A L |

(i) | T A B €|
fem ) FS TAE AT e ¢ |

b) FS AT TEIL T el & |

() TP FA A

(d) Gt T AT B T

G

Options :

FAA (a), (b) 3R (c)

9139431305.

HIA (a) 3R (b)

9129421308,
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Fad (b) 3 ()

9139431307,

FIA (c) 3R (d)

9129421308,

Question Number : 28 Question Id : 913943335 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Consider the statements (a), (b), (c) and (d) given below. Which one of the codes contains
the correct statements only ?

(a) Venn diagram is a clear method of notation.

(b) To diagram a standard form of a categorical proposition, three overlapping circles are
drawn.

(¢) To test a categorical syllogism, two overlapping circles are drawn.
(d) Venn diagram is a method of testing the validity of categorical syllogisms.
Code :

Options :

(a) and (b) only

91394313089,

9139431310 (a), (b) and (c) only

(a), (b), (c) and (d)

9139431511.

(a) and (d) only

9139421312,

Question Number : 2§ Question Id : 913943335 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
=1 =R F2HT (a), (b), (©) 3R (d) R four wifvw) Frafafed § ¥ 59 $2 #§ S w9 FF
AT €2

(a) O TG Fohad Hi TR IS 2|

(b) Tt Freaifaes STURE™ & A 4 H SIGEH & o Afdsard 99 @i S € |

(c) Torslt FUel =ImraTe o S&vT ¥ <1 Sifaeamae 9 ©ie i € |

(d) o @ ToFet U =AIame 1 ATkl o J4eT0 i Tk 950 2 |

h<

Options :

FId (a) 3R (b)

91394313089,



www.prepp.in . re p p
Fad (a), (b) 3R ()

9139421310,

(), (b), (c) 3R (d)

9139431311.

Fad (a) 3R (d)

91239431312.

Question Number : 29 Question Id : 913943336 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
If the proposition ‘No dog is quadruped’ is false which one among the following propositions
can be claimed certainly to be true ?

Options :

All dogs are quadruped.

91394313513.

Some dogs are quadruped.
9139431314.

_ Some dogs are not quadruped.
9139431315,

All does are biped.
9139431318, o ¢ P

Question Number : 29 Question Id : 913943336 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :

afe =g wfaafia & ‘&5 Far wtrar 727 8" Taa 3 fr= 3 | o wfagfa % fHived w9 9 @@ am
EARAC IR E T S s o

| gl T =TIR € |

9133431315.

S P IR |
F3 Fd R AU 2|
g+t 31 fgue €

9139431314.

91339431315.

9139431316,

Question Number : 30 Question Id : 913943337 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Yertical

Correct Marks : 2 Wrong Marks : 0



www.prepp.in 'repp

Your Personal Exams Guide
A deductive argument is mvalid if :
Options :

— lts premises and conclusions are all true.

lts premises and conclusions are all false.
9139431318,

—— [ts premises are all true but its conclusion is false.

[ts premises are all false but its conclusion is true.
9139431320,

Question Number : 30 Question Id : 913943337 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

AR I UM © Ife

- 39 YR 91 To feen gt T 2

91394313517

o1z043131c S STYR AR Tg {56t T Tord & |
39 QT SR a1 T 2 W 39 freh e @ |

9139431319

39 T STUR =R et B T g9ehT Rt T 21 |

9139431320

Sub-Section Number: 4
Sub-Section Id: 01394319
Question Shuffling Allowed : Yes

Question Id : 913943338 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
Question Label : CDmprehensi-::zn
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The following table shows the percentage of marks (%) obtained by five students A-E in six
subjects S1-56. Maximum marks in all the six subjects S1-56 are 80, 75, 100, 120, 125 and
150 respectively. In accordance with the table given below, answer the questions that follow
(Questions 31 - 35) :

Percentage of marks (%) obtained by five students in six subjects

B g $2 53 S 55 S6
(Out of 80 |(Out of 75 |(Out of 100|(Out of 120 [(Out of 125 |(Out of 150
marks) marks) marks) marks) marks) marks)

A 30 72 76 30 50 65
B 60 70 83 90 65 72
C 45 65 44 72 72 82
D 50 75 72 84 64 70
E 65 45 68 60 80 66

Sub questions

Question Number : 31 Question Id : 913943339 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The approximate average percentage of marks obtained by student A comes out to be :

Options :

65 %

9139431321.

74 %
9139431322

75 %
9139431323,

70 %

9139431524,

Question Number : 32 Question Id : 913943340 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The difference in the total marks obtained by student A in the subjects S3 and $4 taken
together and student E in the subjects S3 and 54 taken together, is :

Options :

9139431325.
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91394313526.

91394313527.

9139431328.

Question Number : 33 Question Id : 913943341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The average percentage of marks obtained by all the five students together in subject S6, is :

Options :

71%

9139431329.

69%

9139431330.

64 %
9139431331, "

79 %
9139431332, /

Question Number : 34 Question Id : 913943342 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The average of marks obtained by all the five students together in subject S1, is :

Options :

48
9139431333,

50
9139431334,

49
9139431335,

o1
9139431336

Question Number : 35 Question Id : 913943343 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The difference in the marks obtained by all the five students together in the subjects S3 and
S1,1is:

Options :
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48

91339431337.

98

9139431338.

108
9139431339,

110

9139431340,

Question Id : 913943338 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
Question Label : Comprehensi-:}n

frafafaa mfeen | ure faenfiEi A - E & S fawili 51 - Se  uries o Ufasrd o1 g T g1 |ed
foredi 51 - S6 H Afereray i HHW: 80, 75, 100, 120,125 T 150 g1 = < T aifcaert & STTER
= f&d 73 99 (31 - 35) R S ST |

qre ferenfeiat gr =% fawai § W eiept =1 whav (%)
e 51 $2 53 54 S5 S6
i

foremedf (@80 |(F@756 [(F@100 |[(F&@120 [(F@125 |(F&150
| dFE ) |[dwaa) |swdd) |dwda) |swda) |dwdaa)
A 80 72 76 80 50 65

B 60 70 88 90 65 72

C 45 65 44 72 72 82

D 50 75 72 84 64 70

E 65 45 68 60 80 66

Sub questions

Question Number : 31 Question Id : 913943339 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

forenet A g7 9T STepl &1 39T A9 & TN

Options :

0
9139431321. 657%

0
9139431322 /4%
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0
9139421323, 73 %

70 %

9139431324.

Question Number : 32 Question Id : 913943340 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

foreneff A =1 faw1 53 91 54 ¥ el Wi 3R foenefi E o1 fowa $3 qen 54 § a1 Ydish &1 AR

Options :

9139431325. 30

9139431326. 36

9139431327. 28

9139431328. 32

Question Number : 33 Question Id : 913943341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fawg se T wft df= faanfi=i gro ur fofd T ofeni ot ofie 9faee & ¢

Options :

0
91394313529, 71%

0
9139431330. 69%

64%

9139431531

0
91394313532. 757%

Question Number : 34 Question Id : 913943342 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fomr 51 9efi urai foenfoidi grr wra foFd T3 sl o1 Sa @
Options :

91394313353. 48

50

9139431334.
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9139431335. 49

912942133¢. o1

Question Number : 35 Question Id : 913943343 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fawr 53 a1 S1 H [t ui= faenferE grn e fod T2 3iehi &1 3=/

Options :

9139421337, 48

9139431338. 98

9139431339. 108

9139431340. 110

Sub-Section Number: 5
Sub-Section Id: 01394320
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 913943344 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following pairs least matches in respect of Computers ?

reveis 1CigbYe c(1028)x(1028)x 1024) Byte
T — LCD : Light Crystal Display
PRI : Universal Serial Bus
A GUI : Graphical User Interface

Question Number : 36 Question Id : 913943344 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frefafaa § | SAE 1 F & a8 § 7e9qq &9 § 7 Tl § 2
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Options -
13045154 1 TTTTEIEE . (1024) x (1024) X (1024) FTEEH
9139431342, el 4 Sl : ege fored feqwi

9139431343, ﬂt{@[aﬂ : ?{ﬁﬁlﬁﬁ HifEa ="

9139431344 Gﬁq\a:ng : PlREES EGA Ery |

Question Number : 37 Question Id : 913943345 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Amit has decided to use either a DVD-RW or DVD-R. Select statements that are TRUE for
these storage devices.

P: Both DVD - R and DVD - RW are read only.

Q: DVD - R can be written to only once.

R: DVD - RW can be written to many times.

S: Both DVD - R and DVD - RW can be written to only once.

Options :

P only

9139431345.

S only

9139431346.

P and R only

91339431347.

Q and R only

9139431348.

Question Number : 37 Question Id : 913943345 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
AfHa - T S-SR T, a1 AL - H | forelt weh o SuEn o Fofe o §1 S el
1 T, ST AR STEHTT & AH H Het 2

L3 e ) | i | Ry R e M | e o e - e 1 L el

7, : ELAE-IR | Faa @ 9 faan s g )

AR, : O -IRTY, W T 9R T S e 2

TH ;. AR IR A E - Ty, T W ke T AR Teran ST Hekdl )

Options :
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91294=2134E,

HIe TH.

9139431346,

Fad °t, 3R 3R

9139431347,

helel 9, 3R IR,

9139431348.

Question Number : 38 Question Id : 913943346 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following list indicates different types of computer networks. Arrange them in an
ascending order on the basis of geographical space implied.

Options :

LAN, WAN, MAN

913394313489.

s139a31350. VAN, LAN, MAN

MAN, LAN, WAN

9139431351.

LAN, MAN, WAN

9139431352.

Question Number : 38 Question Id : 913943346 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FrefeRad et W et Aeaa & T YRl o) Suian 1 1 3¢ siaf-iea fsimnfthed @Y &
STYR T RIS A H Fareed i |

Options :

AT, SR LE, T,

9139431349

- S U, Tl G U, YHEAA.

9139431350

LT, WL, ST

9139421351

LT, LT, ST

9139431352
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Question Number : 39 Question Id : 913943347 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Computer peripherals are external devices connected to a computer. Which list contains
input peripheral devices ONLY ?

Options :

Speakers, Scanners, Mouse, Modem
9139431353,

. Keybo'ard, Projector, Mouse, Flash drive

Microphones, Track-ball mouse, Scanner, Touch screen
9139431355

Laser printer, Graphic tablet, Barcode reader, Hard disk
9139431356,

Question Number : 39 Question Id : 913943347 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

FIRR YT FHR I TS FRI ST B1d €| T i o Shaa 399 Twed fau e €2

Options :

91394=2135Z.

9139431354,

EHIH, dh-eid A3, ThH, 29 Shid

9139431355.

SR TU=x, Tiher Cacie, aR e ey, 8E femn

9139431356.

Question Number : 40 Question Id : 913943348 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
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Read the following spreadsheet (MS-EXCEL) :
EXCEL Spreadsheet

A B @

10 | 16
20
8
12
5 0

The equation in cell B2 is = A2+ BI.
This equation is then copied and pasted to cells B3, B4 and B5. What should be the value in
B5 ?

Options :

| W N~

36
9139431357,

24
9139431358,

44
9139431359,

56

9139431360,

Question Number : 40 Question Id : 913943348 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
frefaliaa weeie (T.1E. - ) i gfet :
T WEyie
A B C
10 | 16
2

8
2

0
qd B2 H W& & = A2+ Bl

T 91G WHIHTUT 1 T foRIT ST € 3R B3, B4 3R B5 H U2 X fea1 S €1 B5 &1 7H -1 8T
=M ?

Options :

=

]

G| W] =

9139431357. 36
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9139421358, 24

9139421359, 44

56

9139431360.

Question Number : 41 Question Id : 913943349 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The tsunami that occurred in south and south-east Asia in December, 2004 was caused due
to :

Options :

An earthquake
9139431361,

A volcanic eruption
9139431362,

A hurricane
9139431363,

A tropical cyclone
9139431364,

Question Number : 41 Question Id : 913943349 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

feger, 2004 ¥ Sfaror 9o Sfo-gel WY@ § A GAHT 1 SRR o ;

Options :

9139431361. !{

9139431362, 5 EET
g (3EHT)

9139421363,

SWRES T THH

9139431364,

Question Number : 42 Question Id : 913943350 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Which of the fc:]lnwing gases initiates a chain reaction that breaks-down ozone in the upper
atmosphere ?
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Options :

Nitrogen dioxide
9139431365,

Carbon dioxide
91394313686,

Hydrogen sulphide

9139431367

Chlorine
9139431368,

Question Number : 42 Question Id : 913943350 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
SO agHed ¥ frefataa 8 | S-9 T 39 Jufer wfafsean o omy st § fomd sisim 22w
82

Options :

91294=2136E. RglSI _5'-[3 5

9139431366. ; ;

9139431367. :E :
9139421368, [1“ I |

Question Number : 43 Question Id : 913943351 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

High level lead (Pb) exposures in humans through inhalations or food consumption may
cause :

(a) Mental retardation

(b) High blood pressure

(c) Disorder of central nervous system

Select the correct answer from the code given below :
Options :

9139431369. (a) and (b) 01'11}-"

(b) and (c) only

91394321370,

(c) and (a) only

91394313571.
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(a), (b) and (c)

91329421372

Question Number : 43 Question Id : 913943351 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

G ST HISH o HIEAH § i 7 | Hi91 (Pb) & Y9E H @A H 1 A1 82
(a) HFAMGH HA

(b) =T =M

Tr=fafad § 9 9 52 &1 =71 9 W N

Options :

FId (a) T (b)

9139431369.

e (b) T (c)

9129421370,

A () T (a)

9139431371.

(a), (b) 94T (c)

9139431372.

Question Number : 44 Question Id : 913943352 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In a human population, which is undergoing the demographic transition, which of the
following generally decreases first ?

Options :

Life expectancy
9139431373, _ -

Level of education
9139431374.

Death rate
9139431375,

Birth rate
9139431376,

Question Number : 44 Question Id ;: 913943352 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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e SHEE TS SHifRdd IRad 8 @l 8, 9 fFefateg § 9 forgd 9o ved g Siai g ?

Options :
9159451373.
9139431374. ﬁ-[&:" 1

9139431575. ‘j(’ﬂ W

912942137¢. SN

Question Number : 45 Question Id : 913943353 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Assertion (A) : The ecosystem surrounding a river gets damaged due to construction of a
dam.

Reason (R) : The area gets inundated with large volume of water.

Choose the correct code :

Options :

Both (A) and (R) are correct and (R) is the correct explanation of (A).
9139421377

Ssss s Both (A) and (R) are correct, but (R) is not the correct explanation of (A).

o139431379, (A) 15 true and (R) is false.

(A) is false and (R) is true.
9139431380,

Question Number : 45 Question Id : 913943353 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

firemer (A) :  fordht 7t & d-Tid =t wiffeerfornt ot TR &y 999 | aifau ran B
ST (R) : foreet ST o &% & <9 S 7
F@ﬁﬁﬁlﬁ:

o (A) 3R (R) TFI &I 8 3IR (R), (A) F! Hel ST |

9139431377.

9130431378, (A) AR (R) EEIR GRS &g (R), (A) ! Wl ST El ¢ |



www.prepp.in .repp
(A) & € 3R (R) T §

9139421379,

(A) T € 3R (R) Tl € |

9139431380.

Question Number : 46 Question Id : 913943354 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

3

Which one of the following has larger scope for the possibility of hands on experience
Options :

Seminar
9139431381.

s s g Conference

Workshop

9139431383.

Symposium
9139431384,

Question Number : 46 Question Id : 913943354 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
IR fohaTeg 3TV & o) ey i Tomey forad 2

Options :

9139421381, y ” él
9139431382. TH el

HIAYTA

9139431383.

9139431384.

Question Number : 47 Question Id : 913943355 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following is less oriented towards knowledge dissemination ?

Options :

91394313585. Seminar
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91294=2138€. Classroom

Field work

9139431387.

sizgusyass JOUnEl

Question Number : 47 Question Id ;: 913943355 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Optiun Orientation ; Vertical

Correct Marks : 2 Wrong Marks ;

aﬁmﬁaqﬁﬁmﬁﬁaﬁﬁﬁmﬁ FY FHE & ?

Options :

3]
HINTT RS

91294=2138E.

91394313556.

PR

9139431387.

TRt (SHA)

91394313588.

Question Number : 48 Question Id : 913943356 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following body is empowered with the role of appointment and approval of
teachers in a University System in India ?

Options :

Board of Management/Executive Council/Syndicate
9139431389,

139431390, Academic Council

Board of Studies
9139431391,

University Court/Senate
9139431392,

Question Number : 48 Question Id : 913943356 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

IRd ¥ favafaened ggia # el &1 FYfa a9 SrER & T Hefafeaa § 9 f69 e &
AR M ok T § 2
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&Y Hed (W€ 1w HAsiHe) /wriwi uiug /fafede

Options :

9139431389

91394231390, faE]T ;\
- U1 |t

91394313591

 Torvafaemea /e

9139431392

Question Number : 49 Question Id : 913943357 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is entrusted with the responsibility for coordination and quality of
higher education in India ?

Options :

| Bar Council of India

91394313393

T Association of Indian Universities

University Grants Commission
9139431395,

NITI Ayog

9139431396

Question Number : 49 Question Id : 913943357 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
gRa T 3= fen & T e oresn i rier fRe did i g2

Options :

R fafer aREg

9139431333

- AT favafaEne |99

9139421394

 favaferemea e smm
- Hifa s

9139431395

9139431396

Question Number : 30 Question Id : 913943358 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



www.prepp.in 'repp

Your Personal Exams Guide

Correct Marks : 2 Wrong Marks : 0

Who is the administrative and academic head of Indian University System ?
Options :

Chancellor of a University
9139431397,

W—— Vice-chancellor of a University

Registrar of a University
9139431399,

Dean of studies in a University
9139431400,

Question Number : 50 Question Id : 913943358 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TR fovafaemeTa gumel & gemafaes e Aforn s1ee) [ 26 8 2

Options :
favafa=med &1 Feniafd
9139421397,
IELEIECIGERCIRE TSRIG
9139431398,
— ToRaia=ned &1 Fad=d
9139421399,
favafaene & G =98]
91394231400,
Faper II
Group Number : 2
Group Id : 9139436
Group Maximum Duration : 120
Group Minimum Duration : 120
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 200
31 Linguistics
Section Id : 0139436
Section Number : 1

Section type : Online
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Mandatory or Optional: Mandatory
Numiber of Questions: 100
Number of Questions to be attempted: 100
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 91394321
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 913943359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Preparation of concordances for literary works by machine comes under

Options :
Psycholinguistics
9139431401. 4 2
Sociolinguistics
9139431402.
Linguistic Computin
9139431403. & S
Educational Linguistics
9139431404.

Question Number : 51 Question Id : 913943359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Yt % R anfEfces sl % fog gemmarstt it darh Frafafes @ |8 ek siaria st 2 2

Options :

9139431401, AT
9139431402, . TSI
9139431403, P e
9139431404, R AR

Question Number : 32 Question Id : 913943360 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



www.prepp.in 'repp

Your Personal Exams Guide

Given below are two statements, one labelled as Assertion I and the other labelled as
Assertion I1. Read the statements and choose the correct answer using the code given below.

Assertion I : Anthropological linguists study human languages.

Assertion II : The focus on human languages developed because of the immediate need to
describe a large number of unwritten languages.

Options :

I is correct and 1I is wrong.
9139431405,

Both I and II are wrong.
9139431406,

9139431407 Both I and I1 are correct.

11 is correct and I is wrong.
9139431408,

Question Number : 32 Question Id : 913943360 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

= q v few e B, formt & vk arfirrem 12 o gau wafdrhem 11 2 | et it ufge oiit i fiy
Y 32 Tl T R T I} I |

e 1 ; rafas st W wmarelt 1 e e | |

Sfirerer 11 : sifeifiga wmoredt < ot G &1 9o i S aTenioe ETEHal & SR HHEd Mot

q¢ €27 e fRwam T |
Options :
I 3 11 TeAd
9139431405. e g
I 3t 11 2+t Terd
91394314086. i g
I 311
9139431407 T
11 IR 1 Tea
9139431408, e g

Question Number : 33 Question Id : 913943361 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In which sentence below do we observe attributive adjective ?

Options :

The boy gave a melon to his mother.
9139431409,
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The man slept soundly.
9129421410,

The painting was ugly.
9138431411. & il

The man gave the boy a big hug.
9138431412 & 4 BENE

Question Number : 53 Question Id : 913943361 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
fr= few o fore e 7 g U ToiaTe fasieor i <@ ® 2

Options :

AT 3 AT AT TH @A
9139421409, = R

9139431410. SRR R )

femert srgra oft |
9139431411,

safth ¥ TS T FAHL T @ forn |
9139431412

Question Number : 54 Question Id ;: 913943362 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

Given below are two statements, one labelled as Assertion I and the other labelled as
Assertion I1. Read the statements and choose the correct answer using the code given below.

Assertion I : Descriptive adequacy is achieved when a grammar generates all of a particular
sample of data correctly predicting which sentences are well formed and also describes the
intuitions of the language speakers.

Assertion II : Explanatory adequacy is achieved when a principled basis is established for
deciding between alternative grammars, all of which are descriptively adequate.
Options :

9139431413 Both I and I1 are correct.

I is correct, but II is wrong.
9139431414,

I is wrong, but II is correct.
9139431415,

Both I and II are wrong.
9139431416,
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Question Number : 54 Question Id : 913943362 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e §t hua fGg 7 g, Ford @ T afirhum 13 9 qau waftrepem 11 @ | et =t afen ik = fag
Tq 3¢ I T R qg I I |

Sy 1 : IUATCHS SATHT ITYTHAT Sl ga TSI Foram STTaT 8 S1at 398 @ U SATHT Sihe il Th
ferdhy wiftreet gforg el @ St ot w0 @ 77 oW wman 2 £ FR-3 I S5 709 F g # ol
qZ WTST THIAT o SaFiA o1 ot U w7 |

e 11 : AT STAT i a9 ITfeia o STt 2 51 i sarh o o folg & fae
o e Tagia wnfia T st 2, 38 & avfi o ST R I § |

Options :

1311
9139431413, TR

1 , AR I Tera B
9139431414 e &

1 Ted 2, Afer 11 |
9139431415. ¢ a2

1 3T 11 2t e
9139431416, 3 i

Question Number : 353 Question Id : 913943363 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A written character in an alphabetic system of writing is called a/an
Options :
ideograph
91398431417, .

gloss
9139431418,

9139431419 diacritie

9139431400, oHer

Question Number : 353 Question Id : 913943363 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

AE % Th Fuilgseieh sqaeyt § o faflas aof it Frerfafaa d a sqroman 2 -
Options :

9139431417,
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9139431418.

9139421419,

891338431420, T

Question Number : 56 Question Id : 913943364 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to C.F. Hockett, a defining property of human language, whereby a member of
one human generation learns much of the ability to speak from a previous generation, is

called

Options :

91394314p1 2rbitrariness

9139431405 Ccultural transmission
isplacement

9139431423, P

913943 1qpq CiBcrelaneas

Question Number : 56 Question Id : 913943364 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

dt.u%. giohe & ITER, WHT W it Uk Pyl fasmar, fed v @ =1 & 1ma wgea o 9
& aratems i At Fuerar i diwal 2, FefaRas @ ) 39 w81 s 2

Options :

9139431421.

greafae Sy
9139431422
9139431423

9139431424,

Question Number : 57 Question Id : 913943365 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match the items given in List I with those in List I1. Choose the correct answer using the
code given below :

List I List IT
(a) Langue (i) It refers to a system of language where it is
studied from the point of view of its historical

development.

(b) Parole (ii) It refers to a system of language that is shared
by a community of speakers.

(¢) Diachronic (iii) It refers to a system of language that studies it
at a given point time.

(d) Synchronic (iv) It refers to a system of language that studies it
as a concrete act of speaking of an individual in
an actual setting.

Code:
Options :

syagaglase Y Wi, (=), (d)-tv)

9139431426. (a)-(ii), (b)—(iv), (¢)-(1), (d)—{iii)

sigadsidyy, U (W=, (-4, (d)-(i)

a1zeuztqog. T (b, (0D, A

Question Number : 57 Question Id : 913943365 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T 13§ 7 wEi g 11 % wy gafe Hifve | = e e g o e g el s g

Tt 1 T 10

(a) @M (i) I WTaT i Uk Ut sgaedt w1 3o Ll § SRl
a1 7eaaA e faera & afew o foren s
B

(b) TWe (i) I8 VTS <hI Uk UE) AT i Jeoid Fdl g
Il o Toh TG % G e TR et 2

(c) FICHHRIP (i) ¥Z WToT ht Uk Ut sqac i Jeoig w2 S 3@
w fou o A # sver w2

(d) THFIferR  (iv) I§ W91 i o Ul sqae 1 Ieor@ Fdl g 51w
qreafaes fammg § o =afe i o s & A
T HETH H 2 |

C &

Options :

9139431425, (2)-(1), (b)—(iif), (e)—(ii), (d)—(iv)
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(a)(ii), (b)—(iv), (e)—(1), (d)(iii)

9139431426,
sisedsiags U (U, (o), (d-(i)
9139431428. (a)iii), (b)—(ii), (e)—(1), (d)—(iv)

Question Number : 5§ Question Id : 913943366 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Languages which are genetically related have

Options :

gitnasiysg Cheventlanguage family
o1seus1ase. T rommenlangrage tanily
S, oGATceslon
9139431432 different ancestors

Question Number : 38 Question Id : 913943366 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
AFARS T T Tag wTaTd @t 8
Options :

9139431429. Firr s

THOHM WTaT IfEr
9139431430,

THEHAA
9139431431. t@ﬁ

R i

9129421432,

Question Number : 59 Question Id : 913943367 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the context of the functions of language, the focus on language as a means of contact
constitutes

Options :
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9139431433 the referential function

9139431434 the conative function

the phatic function
9139431435,

the tic function
9138431436. B

Question Number : 59 Question Id : 913943367 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

WTST % Shral & deyf ¥, Gueh & wreadt & ®9 4 swer 92 wshnran faffa s 2
Options :

HeMTa Srhrd

9139431433.

9139421434,

9139431435.

9139431436.

Question Number : 60 Question Id : 913943368 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the context of C.F. Hockett’s design features of language, the feature that human
languages allow speakers to create novel utterances that others can understand is known as

Options :

Duality of patternin
91389431437, kP B

Specialization
9138431438. peet

Interchangeability
9139431439,

Productivity
9139431440,

Question Number : 60 Question Id : 913943368 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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.o, Bine % g Sharfea wman & Pifif siftream o dedl #, a7 fadvar foradt wma yrand et
i W Ifma =l St ghia S0 A safe 3 € f5d o safts aus o, 38 1 o @

Options :

A= ga
9139431437.

9139421438,

91394214395, N

9139431440,

Question Number : 61 Question Id : 913943369 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks :
In the sentence ‘The bear was followed by the lion’, the logical subject is

Options :

9139431441 e bear

9139431447 e lion

9139431443 ollowed

9139431444, o

Question Number : 61 Question Id : 913943369 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

T ‘T % gra wiq 1 diet fFn wen or, sad @ifhe wal @
Options :

9139421441,

9139431442,

9139431445. o1

9139431444,
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Question Number : 62 Question Id : 913943370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which of the sentences do we see the dummy subject ?

Options :

It is raining.
9139431445,

Fissasidgr, Toelon stethelatzehra.

Girls like to wear pink.
9139431447,

The boys played football every day.
9138431448, A Eia

Question Number : 62 Question Id : 913943370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Prerfrfiae st 3 3 vl 79 v el 1 2 8 2
Options :

9139431445, AR

A WG S T WO T o
9139431446, g o |

weferat TeTel e 96 el § |
9139431447, gk

wg wfafen peaia Gad ¥ 1

9139431448.

Question Number : 63 Question Id : 913943371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

Given below are two statements, one labelled as Assertion I and the other labelled as
Assertion I1. Read the statements and choose the correct answer using the code given below.

Assertion I : In generative grammar, the direct object is called simply ‘object’, and contrasted
with indirect object.

Assertion II : In inflected languages, objective may be used as an alternative to accusative.

Options :

9139431449, Both I and 11 are correct.

I is correct, but II is wrong.
9139431450,
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I is wrong, but II is correct.
9139421451,

Both I and IT are wrong.
9139431452,

Question Number : 63 Question Id : 913943371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;
o § o= Gy T 2, ot @ o arfdrenem 18 oK qaa safirmem 11 2 | et =it ufen ofit = fig
T %2 TG0 W T I g |
Ao 1 : T = |, g&d 4 it g i w1 s 2, o it o | faodie S g )
e 11 : favfesam wmaratt #, e it o R % T T 5 w9 d o form s ashat ] |

Options :

0139431449, LARITHTAT
sisgusides, T % aoe L)
9139431451 LT 3, ST I8 % |
9139431452 LI TR E I

Question Number : 64 Question Id : 913943372 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following is not true for the innateness hypothesis ?

Options :

It is also referred to as the nativist hypothesis.
9139431453,

Innateness is also associated with LAD (Language Acquisition Device).
9139431454,

- - -+ -+ h
It was basically propounded by the behaviourists in the earl 20" century.
9139431455, ¥ RROpe y y =

It proposes that intricate rules of grammar are acquired by children even when they are yet
to mature on many other levels, as if they are born with knowledge of the fundamental

organizing principles of grammar.
9139431456, 8 &P P &t

Question Number : 64 Question Id : 913943372 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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frefafias # @ Fa-at wuw Aqatadr wreregar & fae aft 78 2 2
Options :

0130431453 T AN I S % T R it wefia o S g o

Jerattaat Ta T, (v o yfafe) @ ft dwg R
9139431454

& Hora: 20 vraredt 5 Y 1 sqagrareat % grr sfrarfea fomam oo |
9139431455,

g eqTd <a1 @ foh sarshen & sifew Framt <6t o=l % g Swrfsia foran Srat @ =R 378 anft o=a @igd

0130431456, & U T ARG BHT I 7 S A 4 SR 6 o R - 79 F T 5 G |

Question Number : 65 Question Id : 913943373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In the Aspects model of 1965, which of the following is nof contained in the base ?

Options :

9139431457 > rewrite rules

Subcategorization rules
9139431458,

9139431459, Transformational rules

grzgazlqay, oeelinsertion rules

Question Number : 65 Question Id : 913943373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

&t YeaeH Hisd 3% 1965 % 4R #, frafafaa d @ -ar fraw wfase 78 8 2
Options :

di.wq. gerE fram
9129421457,

9139431458. s

91394214585,

fraw Frm
9139431460, |
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Question Number : 66 Question Id : 913943374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion I and the other labelled as
Assertion I1. Read the statements and choose the correct answer using the code given below.

Assertion I : A Head Parameter specifies the positions of heads within phrases (e.g. head
first in English, head last in Japanese).

Assertion II : The Pro-drop parameter determines whether the object of a clause can be
suppressed.

Options :

9139431461 Both I and I1 are correct.

I is correct, but II is wrong.
9139431462,

I is wrong, but II is correct.
9139431463,

Both I and II are wrong.
9139431464,

Question Number : 66 Question Id : 913943374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

A= qt %o QT T B, oW @ T AAirepy= 12 3t gau aafdrnem 11 3 | et it afen ot = fig

T e i ST T T YT |
37f¥rRe 1 : T it St St < it st <6t b it ffdse i & ( e
st srorm, S 3 o sife) | T

SAfiemer 11 - -319 e i F:7d & 96 7 O S9amrt < A i 5ern S W ¢ |
Options :

0139431461, 1RUTH TR

—— L Lo

0139431463, T BRI IAAR

o139431464 ARIHTEIE

Question Number : 67 Question Id : 913943375 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Apart from a dictionary meaning, a word may have an additional meaning and it is known
as
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Options :

denotative meaning
9139421465,

connotative meaning
9139431466,

idiomatic meaning
9139431467,

figurative meanin
9139431468, &8 5

Question Number : 67 Question Id : 913943375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e & 319 % raran et e w1 tfafi ord oft B gt 2 i 38 W ST 2

Options :

g 3td
9139431465,

Tonefe 27
9139431466.

HeTagr ot
9139431467,
9139431468 SRt ef

Question Number : 68 Question Id : 913943376 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Words such as ‘red’, ‘blue’, ‘green’ and ‘white’ denote different colours and this semantic

relationship is expressed as
Options :
meton
9139431469, e
meron
9139431470. i
on
9139431471. daa
hypon
9139431472. L

Question Number : 68 Question Id : 913943376 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A, e, g ok e 94 wee fafim o it give Fa E ol 7 oneff ey % &9
# = frm ST § |

Options :

9139431469.

9139421470,
9139431471.
9129421472,

Question Number : 69 Question Id : 913943377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The relationship that exists between a ‘part’ and a ‘whole’, such as ‘tyre’ and ‘car’; or ‘elbow’
and ‘arm’, is called

Options :

Complementary distribution
9138431473, &

Meron
9139431474, S

Homon
9139431475, =y

Synon
9139431476. R

Question Number : 69 Question Id : 913943377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘o1 it U At W@ TR o HI; W HiE ol A’ W off St gey a2, 38 FEd @
Options :

T
9139431473. T

9139421474,

9139421475,

9139431476,
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Question Number : 70 Question Id : 913943378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The sentence “The boy saw the elephant on bieycle”, is an example of

Options :

semantic fallacy
91389431477,

erstatement

9139431478, " o
9139431479, understatement

ambigui
9138431480. e

Question Number : 70 Question Id : 913943378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;
a8 9199 “Tsh = arsfea W g dEr’, I R
Options :

9139431477.

9139431478.

9139431479.

9139431430.

Question Number : 71 Question Id : 913943379 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A phrase lacking a Head is known as

Options :

9139431451 ndocentric

9139431450, XOcentric
Copulative

9139431483.
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Hyphenated
91239421484,

Question Number : 71 Question Id : 913943379 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ush Wi & e arr st S ST 2

Options :

A

9139431481.

afR:

91339431482.

9139431483. %

9129421484.

Question Number : 72 Question Id : 913943380 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
Tone is a characteristic feature of which language family ?

Options :

9139431455, Dpeto-Burman

9139431456, ‘ustro-Asiatic

Indo-Arvan
91=294=1487. Ay

91394314gg, LPravidian

Question Number : 72 Question Id ;: 913943380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

a Ffafaa # 4 fea ymor gftem i o fafine faswar 2 2
Options :

9139431485. Ferearft-sri

EICARUEEI

9139431456.
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Ze-Ar

91394314857.

RS

9139431488.

Question Number : 73 Question Id : 913943381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion I and the other labelled as
Assertion 11. Read the statements and choose the correct answer using the code given below.

Assertion I : A Serial Verb Construction (SVC) is a sequence of verbs which act together as
a single predicate.

Assertion II : It works without any overt marker of coordination, subordination or syntactic
dependency of any other sort.

Options :

I is correct, but II is wrong.
9139431489,

I is wrong, but II is correct.
9139431490,

Both I and IT are wrong.
9139431491,

9139431492 Both I and 11 are correct.

Question Number : 73 Question Id : 913943381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

= q ya fqu M &, ol @ o STfirpua 12 R gua fdrmm 11 2 | o it fen ofit A= fan
T %2 TG R T I g |

S 1 : G GRTTTSa TR atemn (qa.dt.dt. ) Bramstt 1 o %1 2 St 0 T T899 % 9 H
rY-a1Y e FET R |

3feper 11 - ag Tt o= v 6 ar geaat & famt w snfda sren aa=a, s & geas
g < fom st @ 2 )

Options :

| AferT 11 7Ted 2 |
9139431489, W, ¢

17Te1d 8, wifsh 11 |
9139431490, § aa

1 3T 11 2t e
9139421491, ot i
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13RI wdt & |

9139431492.

Question Number : 74 Question Id ; 913943382 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

A geographical region containing a group of three or more languages that share some
structural features as a result of contact rather than as a result of accident or inheritance
from a common ancestor is

Options :
Pidgin
9129421493,
9139431494 Creole
Sprachbiind
91294231495,
Linguistic levellin
91=294=149¢6. ae 5

Question Number : 74 Question Id : 913943382 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

7 g At iRt o Tk wE e U MM &3 St ChaHE i 6 S % IR @
g ¥ A9 & TROMREEY $6 GtHTcTe [a9maredt sl /s &l &, 38 Fefafas 4 @ g sman = -

Options :

9139431493.

9139431494,

913942149,

9139431436,

Question Number : 75 Question Id : 913943383 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Nihali is a language isolate that is spoken in west-central India. It has a very large number
of words adopted from

Options :

9139431497, Malwi
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Baiga
9129421498,

9139431499, Condi

9139431500, Horku

Question Number : 75 Question Id : 913943383 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

frEreft v wmrhl v @ o ufvsw-nen Wi #§ <o S 2 | Pafalas 8 @ fea w9 o s
& U Y=gl i e e man g 2

Options :

9139431497,

9139431498.

9139431499.

PIE

9139431500.

Question Number : 76 Question Id : 913943384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion I and the other labelled as
Assertion I1. Read the statements and choose the correct answer using the code given below.

Assertion I : Languages with the SVO word order are predominantly prefixing.

Assertion II : Languages with the SOV word order are predominantly suffixing.

Options :

9139431501 Both I and 11 are correct.

Both I and IT are wrong.
9139431502,

I is correct, but II is wrong.
9139431503,

I is wrong, but II is correct.
9139431504,

Question Number : 76 Question Id : 913943384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

e v e e &, o & o atfirpua 17 iR gaa atfiremu 11 2 | St it afee oft A= g
Q%2 Sl TAT K Tel IR AT |

e I - w20, wegrhn areft yrwredt # gehrearfienor yg@ g R |

e 11 - 7a. .30, Tegh arelt wrenedt 3 oo IgE g R |

Options :

I 311
9139431501 T

I 3T 11 &4t Tad
9139431502, 3 i

| AferT 11 7Ted 2 |
91394321503, W, ¢

1 TTed 2, Afer 11 |
9139431504, ¢ a2

Question Number : 77 Question Id : 913943385 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

For identifying family relationships among languages, are used extensively by

Options :

9139431505, |\ouns

9139431506, L ronouns

Adjectives
9139431507,

9139431505, dverbs

Question Number : 77 Question Id : 913943385 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

VTSIl % W Hof G sl Tgae- & fore smafes) < gra frafaRaa 7 @ foraent samaes &9 & 9
foreTT ST B 2

Options :

91339431505. .

9139421506,
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9139431507.

9139421508, fan-ferre

Question Number : 78§ Question Id : 913943386 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Because of his all-encompassing conception of the shift that had a significant impact on his
contemporaries, is considered the principal representative of the New
Grammarians’ school.

Options :

9139431509, O acop Grimm

9139431510, 1arl Verner

GiSgdsisy) Denuana Grasgonann

Karl Brugmann
91=294=1512. B

Question Number : 78 Question Id : 913943386 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fifeh ITh gl it Tt HQURON 5 HROT I7h AHHIFAH T FaH TEwago! IS 92,
i 7 AR =R it vy skl e s g )

Options :

9139431509. B

9139421510, R R

P )
91339431511. i

e g

9139431512

Question Number : 79 Question Id : 913943387 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
The Great Vowel Shift of English took place in the centuries.

Options :
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9139431513 thirteenth and fourteenth

9139431514, fourteenth and fifteenth

9139431515, ieenth and sixteenth

9139431516, sixteenth and seventeenth

Question Number : 79 Question Id : 913943387 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;
St Bt et e afgy Frefirfae @ for o w2

Options :

el st e

9139431513

dggdl I Tt
9139431514,

| gegedl iR diered

9139431515

Areredl 3t wgdl
9139431518,

Question Number : 80 Question Id : 913943388 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

When an irregular form changes to a regular one under the influence of another form, it is

called change.
Options :
chronic

9138431517, -
9139431515 iachronic

allophonie
9138431519.

analogical
91389431520, ok

Question Number : 80 Question Id : 913943388 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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s U Al w9 ot o=n vy ot %y % atafa ww Fafie vl o afeffe @ s g, Tt |
gitard= g1 ST § |

Options :

THRITH

9139431517.

9139421518,

9139421519,

9138431520.

Question Number : 81 Question Id : 913943389 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks :

The totality of linguistic varieties used in different social contexts by a particular community
of speakers is known as

Options :

9139431501 T erformance

9139431500 Larole

Verbal repertoire
9139431523,

Communicative competence
9139431524,

Question Number : 81 Question Id : 913943389 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Yertical

Correct Marks : 2 Wrong Marks : 0

vt 35 Frsr e 3 Ry Fafr s st i e ST fefaiett 6 i % W e g
Options :

freare

9139431521.

9139421522,

91394315253. Y

9139421524,
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Question Number : 82 Question Id : 913943390 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The socio-linguistic situation where two very different varieties of a language co-oceur
throughout a speech community, each with a distinet range of social functions is known as

Options :

code mixing
9139431525,

diglossia
9139431526,

code switching
9139431527,

ethnolinguistics
9139431528,

Question Number : 82 Question Id : 913943390 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

gurar-vmarft aitfeife frad o & S orcrea i YR sren wTerh 59 9eE § IE | oF 0 7% b
a1y wed &, Rl @ ydiss it amfes yert w1 fafie g 2t 8, it w2 ST 2

Options :
oo

9139431525, e

gufee fowifat
9139431526,

Fe qiada
9139431527,

Fenfa s
9139431528,

Question Number : 83 Question Id : 913943391 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion I and the other labelled as
Assertion 11. Read the statements and choose the correct answer using the code given below.

Assertion I : Restricted code, as proposed by Basil Bernstein, was a variety of language used
in relatively informal situations which relied on context for its meaningfulness and lacked
stylistic range.

Assertion II : Elaborated code, as proposed by Basil Bernstein, was a variety of language
used in relatively formal situations which did not rely for its meaningfulness on extra
linguistic context, and it allowed its speakers to use a range of linguistic alternatives.

Options :
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9139431599, Both I and II are correct.

I is correct, but II is wrong.
9139431530,

I is wrong, but II is correct.
9139431531,

Both I and IT are wrong.
9139431532,

Question Number : 83 Question Id : 913943391 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

= gt oA fRu e 8, Ford @ u ity 13 3t guu it 11 3 | et it afe ofit +fi= fig
T %2 TET K T I g |

fireer 1 ; aifdre awdergs g wfaarfe it o snigmsa srteeles feufet @ ses W i s
o it 7o arefeRan W fre Tied W i o oiv el Sefma wra A ol o |

s 11 : ittt s=dersd i Sfautfea faeqd e smemsha sitasien fRfaat 7 g s 1 TR
ot St Rt aredeRar 5 fore wiren arer oM W eniiia i o, SR sE awistt it vl famedi % wom
% eI <t argafe & |

Options :

I 311
9139431529, T

| AferT 11 7Ted 2 |
9139431530. W, §

17Te1d 8, wifsh 11 |
9139431531, § e

13RI Tod
91394321532, <t g

Question Number : 84 Question Id : 913943392 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match the items in List I with List IT and choose the correct answer using the code given

below :
List 1 List 11
(a) Simultaneous bilingualism (i) Learning another language after acquiring

the first language

(b) Successive bilingualism  (ii) The ability to understand a second
language without being able to speak it

(¢) Additive bilingualism (iii) A child who learns two languages at the
same time

(d) Passive bilingualism (iv) A child who has already acquired a first
language and then learns a second
language in early childhood

Code:

Options :

siggaaicyy B -G, (c)-(l), (d)-(v)

ayRauzyEey. T i ()= ()

grgagcgs (UL =), o), (d)-(i)

ssedsicag v (=D, (0D, (08

Question Number : 84 Question Id : 913943392 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tt 1% Wt =t = 11 % gl @ gifera hiforg ok = 3T g 52 =t st s g @t s =t 9
qHI T

(a) Iraq fowmiiepat (i) weelt s i o o =g gt W i@

(b) Frgpeit Tgwfiera (i) q@dt Wt aiier & Gam ge for € W = Tsm A gma

() o fmfhan (ki) W e St b & T § Q wond e

(d) Fifsra gwfierar (iv) o Sras St gea € vaelt wiar st i gt @ o fee s
e 3 i gud v e 3

C &

Options :

sisagsygay BRI, (ch-(l), (d-Ov)

9139431534 D, (b)=D), (i), (d)—(iv)

grgagcgs (UL =), o), (d)-(i)
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sgeagicsy IR -ID; eI (-0

Question Number : 85 Question Id : 913943393 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Systematic attempt to solve communication problems of a community by studying the
various languages or dialects it uses and developing a realistic policy concerning their
selection and use is known as

Options :
language plannin
9139431537 EXRESE a

language maintenance
91389431538. SIS

language shift
91389431539, e

lan e appropriation
91=294=1540Q, BTARS BRESRE

Question Number : 85 Question Id : 913943393 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

forelt TER g0 SAasd faftm wrwtedt = aiferdt F1 SreqgA Feh FEH i TN THEAA I 5
A T SHGICT YIS HLT & A 96 999 991 3T B et qerdard ifa w1 fewm w2,

gl AT

Options :

9138431537.

9139421538,

9139431539,

9139431540. A

Question Number : 86 Question Id : 913943394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match the items in List I with List II and choose the correct answer using the code given

below :

List I

List I1

(a) Coordinate bilingual (i) Learn both the languages from the same environment

(b) Compound bilingual (ii) Learn both the languages in different environments

(¢) Subordinate bilingual (iii) When acquisition of the first language is interrupted

(d) Distractive bilingual (iv) Learn a second language and cannot understand it without

Code:

Options :

9138431541.

9138431542,

9139431543.

9139431544.

the help of the first language

(a)—(1), (b)—(ii), (e)-(iii), (d)—(iv)

(a)—(ii), (b)iii), (e)—(iv), (d)—(1)

(a)—(ii), (b)-(i), (e)-(iv), (d)—(iii)

(a)—(iii), (b)—(1), (e)—(ii), (d)—(iv)

Question Number : 86 Question Id : 913943394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T 1% 7Rl it gl 115 w61 & gifea Hifg oit = g 1o 52 =1 @i = e ad s H ghc:

T 1

gt I

(a) GG fEATNeRa (i) T & TR | gt WTwistt i e

(b) T fevmfeman (i) S e i Rm-fm widw § den
(c) sufiraar fowpat (i) S weeft sroT <t Sl sqauTd dtar @
(d) F=aweh fgwfipat  (iv) ad wren dr@dt 2 3R 38 vaelt o h

C &

Options :

91339431541.

9129421542,

9139431543.

9139431544.

Agrat & Ta=r 78 a9e ghar 8

(a)-(1), (b)—(ii), (e)-(iii), (d)—(iv)

(a)—(ii), (b)—(iii), (e)—(iv), (d)—(1)

(a)—(ii), (b)-(i), (e)-(iv), (d)—(iii)

(a)—(iii), (b)—(1), (e)—(ii), (d)—(iv)
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Question Number : 87 Question Id : 913943395 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In lexicographic terms, the format of a dictionary is

Options :

Onomasiolocigical
9139431545,

Semasiological
91389431546, o

Phonological
9139431547,

Morphological
9139431548, =R =

Question Number : 87 Question Id : 913943395 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

IV Ugl #, Teeohty st ATy 1 Johr 1 2ar 2
Options :

qRErE
9139431545, |

9139431546.

@ fosrta

9139431547.

9129421548,

Question Number : 8§ Question Id : 913943396 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks :
Match the items in List I with List IT and choose the correct answer using the code given

below :
List I List IT

(a) Monitor Hypothesis (i) Charles A. Ferguson
(b) Interlanguage (ii) Dell Hymes
(¢) Diglossia (iii) Stephen Krashen
(d) Communicative Competence (iv) Larry Selinker
Code:

Options :

grsgaicag P Wb, (e, (d)-(iv)
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(a)(iii), (b)—(iv), (e)(1), (d)—(iD

9139431550,
sisegsyge] U (U, (=), (d-(i)
o1mous sy (@ BIHD, ©-), -0

Question Number : 8§ Question Id : 913943396 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

et 19 w31 1 e 11 % gl @ gifoa Fifee ok A= e e ge 1w F=a ge |6 sw w9

Tt 1 Tt 10
(a) AR TgaefRE () =red U wiE
(b) 3t~qTMTal (i) 3 g

(c) Twfee fowilemar (i) &% A
(d) TS WEMAT  (iv) < Afe=w

C T4
Options :
9139431549, (a)—(i), (b)—(iD), (e)(iii), (d)iv)
sie4giseg 0w (b)), (D, (G
sisggsyse] U (B0, (SR (i)
aRausyEEy. T RO, (A

Question Number : 89 Question Id : 913943397 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The strategies that learners use to overcome problems in order to convey their intended
meaning are called
Options :

Competence strategies
91389431553, £ tegl

Perceptusal strategies
91389431554, e e

Rehearsal strategies
91389431555, g
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Communication strategies
91394=155¢.

Question Number : 89 Question Id : 913943397 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

freaveff 21am iR =3¢l it = e S fore aweett @ R UM < fere o corfifert s v e 2,
373 Rl T 2

Options :

9139431553,

yeadt TEa Wit
9139431554,

gatvara wrifaat

9139431555.

9139421556,

Question Number : 90 Question Id : 913943398 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A method used in applied linguistics to document the mistakes that appear in learners’
language determine whether those mistakes are systematic and explain what caused them :

Options :

Verbal Deficit Hypothesis
9139431557,

Error Analysis
9139431558,

Creative Construction Hypothesis
9139431559,

Communicative Language Teachin
9139431560. e J

Question Number : 90 Question Id : 913943398 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

freareff wren ® webe B arelt gt & werdleor =g Sy Wit | saaga fafer it ag fafafor
Fedt B 3 q Ffeat saavumaws § ofit a8 sarean s 8 1o 3t o a9 2

Options :

9139431557.
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R faverom

9129421558,

AT =T Wohed Al
9139431559,

9139421560, AT

Question Number : 91 Question Id : 913943399 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion I and the other labelled as
Assertion 11. Read the statements and choose the correct answer using the code given below.

Assertion I : An approximant is a potentially stable articulation in which the constriction is
normally greater than in a vowel.

Assertion II : An approximant is normally voiced and it cannot have turbulent excitation at

the point of constriction.
Options :

Both I and 11 ect.
QUBEUBLGEY,, T It SO

I is correct, but II is wrong.

9139431562,

I is wrong, but II is correct.
9139431563,

Both I and IT are wrong.
9139431564,

Question Number : 91 Question Id : 913943399 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e gt oA fau e 8, ford @ u ity 13 it guu it 11 3 | et it afee ofit = fig
T %2 I ST R Tt I AT |

Sy I : Tk FATEYTIE TEq A fRR 3= gt @ el 9o iR R A ST A & |
37fYee 11 : Toh AT TR T A9t Bin @ o e & formg W 3ad e Sdiva 76 8

qhat & |
Options :
I 311
9139431561, TR
I , Afer 11 Teta 2 |
9139431562, w2 ¢
17ed 8, A 11 ad 2 |

9139431563.
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I3t II Ted
9139431564. S g

Question Number : 92 Question Id ;: 913943400 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

The process of vocal folds vibration is known as

Options :

Pharyngealization
91389431565. -

9139431566, Cettalization

9139431567, 1ronation

9139431565, Coartculation

Question Number : 92 Question Id : 913943400 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
oraast e 6 i HEI WAl & |

Options :

9139421565,

9139431566.

9139421567,

IR
9139431568,

Question Number : 93 Question Id : 913943401 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

involves raising the tip and blade of the tongue to a high front position close to
the anterior part of the hard palate-region.

Options :

9139431569, ' earization

Pharyngealization
9138431570. -



www.prepp.in 'repp

Your Personal Exams Guide

9139431571 -abialization

9139431570 T aatalization

Question Number : 93 Question Id : 913943401 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

# fomm st Rerees A W S 76 @ S it S & S FR AT 8% H gd wm
% e g gran 3 |

Options :

TR

9139431569.

9139431570.

9139431571.

9139421572,

Question Number : 94 Question Id : 913943402 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Phonation mode characterized by low frequency vibration of the vocal folds with a very low
opening quotient and often some irregularity in periodicity is known as

Options :

9139431573, 'OIee

Breathy voice
9139431574,

Whisper
9138431575,

9139431576, Croak

Question Number : 94 Question Id : 913943402 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T T wgft Torad o divdst 1 9 Bian @ 3fi 980 7 o Jrel SN TUT a6 St
H 3o Afafaa g 3, @ *eEd % |

Options :
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91329421572,

9139431574. e

9139431575.
913942157€.

Question Number : 95 Question Id : 913943403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The phenomenon in linguistics where two (or more) sounds appear in the same
environment without a change in meaning is known as

Options :

Pattern congrui
9139431577, gty

Complementary distribution
91389431578. .

9139431579, unimal contrast

9139431580, Yo varation

Question Number : 95 Question Id : 913943403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T & et e el T e A 9 (1 Q) & ) safat ot ¥ wig S o  whed
BT 3, T FEd 2

Options :

9139421577,

T
9139431578. T

~AqH A9
9139431579,

9139421580,

Question Number : 96 Question Id : 913943404 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion I and the other labelled as
Assertion 11. Read the statements and choose the correct answer using the code given below.

Assertion I : Phonemic analysis customarily describes as allophones only those major
variants that can be categorized and represented in a sequential transeription, and these
tend to represent variation which is not universal even if found in a substantial number of
languages.

Assertion II : The variability that is revealed only by instrumental analysis is ignored in
phonemic analysis.

Options :

Both I and IT are wrong.
9139431581,

1 is correct, but Il is wrong.
9139421582,

I is wrong, but II is correct.
9139431583,

91394315834 Both I and II are correct.

Question Number : 96 Question Id : 913943404 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

= q o g e 3, Formt @ v arfirrem 13 2R gaa i 11 7 | et =it afge oiit i fiy
MY %2 o TET R T I g |

S 1 : Tafiien fageon #§ Worraey § Fae @ 9@ = 1 907 395G & &9 4 T sman @
s Terers frcas o Softag fear s a9 si sfrfiftres Ran s % ok 3 33 sRadi #
yfafrftrea ot 8 St wate dem # wrwredt # wrw S % sreasg gt & @ |

e 11 - <t aftadasfiaar Faa aefi-f frveo & o e @ 38 afifires frgdo § Seeies =
fem STt @ |

Optioiss
913943158, LRI T
s13943158s LD b ABAITEY
9139431583, 177 8, A WS |
9133431584 LTI

Question Number : 97 Question Id : 913943405 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which of the following represents the appropriate syllable division of the word ‘basket’ ?

Options :

9139431585, D2 ket
9139431586, DSk e
9139431587, D25 ket
9139431588 Paske !

Question Number : 97 Question Id : 913943405 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frefefias 8 O F9-91 basket’ T°e % AE) 38R favmew =t sUw FA@T R ?

Options :

9139431585, D2 ket
9139431586, Pask e
9139431587, oS~ Ke
9139431588 Paske !

Question Number : 98 Question Id : 913943406 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Morphs that display different manifestations of a morpheme in its morphological
environments are called

Options :

9139431559, Chtcs

Bound morphemes
9139431590,

Portmanteau morphemes
9139431591,

Allomorphs
9139431592,

Question Number : 98 Question Id : 913943406 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

St w9, fordft wftm % e warens ged 4 wfim % - weeat +t quiar 2, 38 F5d B
Options :

9139431589. I

9139431590,

9139431591,

9139431532.

Question Number : 99 Question Id : 913943407 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A case marker (covert/overt) establishes the relationship between/amongst different
linguistic elements on the basis of

Options :

computation of nouns
9139431593,

9139431594 valence of verbs

9139431595, rmediate constifuents

anaphoric references
912394=159¢.,

Question Number : 99 Question Id : 913943407 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

s F1h 5 (The/ 1) % R R - el a9t % <= g9y wnfie s g |

Options :

Al 1 2AfeRas
9139431593,

9139421594, el

913942159E. e

HraTeTh Geu

9139431596.
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Question Number : 100 Question Id : 913943408 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A clitic is a type of obligatory which is a reduced form of a word that exists in full
form elsewhere in the language.

Options :

Free morpheme
9139431597,

Bound morpheme
9139431598,

Portmanteau morpheme
9139431599,

Inflectional morpheme
9139431600,

Question Number : 100 Question Id : 913943408 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

I, Afrard 1 98 YR FrAT 2 St 39 Y3 i GIT €9 7 2 S (W) W 7 = of
FIR A2 |

Options :

9139421597,

9139431598.

91394315989,

9139431600. =t

Question Number : 101 Question Id : 913943409 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The fact that acquisition of language passes through well defined developmental milestones

is an evidence to support that
Options :
Language is a social behaviour
9139431601,

Language is a psychological behaviour
91=294=21602. i ol e
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Languageisa bolic behaviour
91294=2160%, B Ll

Language is a biological behaviour
9138431604, guag &l

Question Number : 101 Question Id ;: 913943409 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

Tz 924 Ty 1 s guionfya faswrarers Qam < wrem @ 9T 2, 39 919 % 99 3 T
ST & T

Options :

WTST Ush OIS S8R
9139431601, L ¢

TS T FAIdT qagR
9139431602. e g

YT Teh Y TohlcHeh SHdER
9139431603, =R ¢

WT§T U Sifae saaEn
9139431604, =5 ¢

Question Number : 102 Question Id : 913943410 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The notion of ‘stages in language acquisition’ is first seen in

Options :

the period of Di studies
9139431605, ks =

the period of Large sample studies
9139431606, Bs B

the period of Longitudinal studies
9139431607,

the Neogrammarians
9139431608,

Question Number : 102 Question Id : 913943410 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
a1 275 | S0 1 AR geeft W frad 2| mn § 2

Options :

9139421605, B ™ it
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9139431606. % ke

e et f arafy
9139431607,

9139421608,

Question Number : 103 Question Id : 913943411 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is true for infant vocalization as a stage in language acquisition ?

Options :

Marked with the onset of multi-morpheme utterances
9139431609,

9139431y, arked with enget of words

Marked with the infant’s discovery of articulatory potential
9139431611,

Acquisition of meaning
9139431612,

Question Number : 103 Question Id : 913943411 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

WTST 3 § =001 & &9 | iy vegreanr & foe Praffae a d Sanadi 2 2
Options :

g SRl 3 s 3 wne fafi
9139431609,

% Wy % a1y e
9139421610, =

IR GHTaAT h g i @i & ary aifirafia
9139431611,

9139431612 e

Question Number : 104 Question Id ; 913943412 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

In a linguistic context, as Chomsky has put it, the argument that when one assigns some
property of grammar P to UG, as part of the genotype just in case there is no evidence for
property P available to the language learner from data he or she is exposed to, is called
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Options :

the mentalist argument
91294=1617=,

the argument from poverty of stimulus
9138431614, E™ poverty

the hierarchical argument
91389431615.

the critical period argument
9138431616. pe &t

Question Number : 104 Question Id : 913943412 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

wrars Wt #, S foh Shveeht % e 2, 39 g # 5= s Rrameff 39 sifee, foraes it 97 sowfie B,
i Iqeten ATYreAor Pk fore +iig somor 8 |, SH-seq % 9T 3 9 1 5 SHith GawTsT SHThl i
sqrR P o 9o il g e 2, 91 3fe ¥ Seardt ] 2

Options :

T i

91394316153.

9139431614. T ﬂﬂﬁﬁ

FfersprTeRs I
9139431615.

sifirs srafir e
91239421616,

Question Number : 105 Question Id : 913943413 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The ‘critical period hypothesis’ claims that
Options :

There is a period in child development during which language can be acquired with

native-like proficiency
9139431617,

It is defined as the process of becoming competent or proficient in a second language
9139431618. 3 & e E e

Itis allel acquisition of two languages
9138431619. e i e

Learning a language through organized instruction
91339431620, . s & &
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Question Number : 105 Question Id : 913943413 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

“spifeen At yEwed At R T 2

Options :

91394318617.

9139431618.

9139431619.

9139431620.

a= % fopra 7 Wt orafy ot B Fovass e Sxfta-aew weftorar 6 aryr s it < s asdt @

77 U fodta e § agm =1 yeftor 5 <t sfsean o w9 | qfonfya i st 2

Fg < WTEIait s T e 2

WTST <t TS ey  Hreaw | di@n

Question Number : 106 Question Id : 913943414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Given below are two statements, one labelled as Assertion I and the other labelled as
Assertion I1. Read the statements and choose the correct answer using the code given below.

Assertion I : Jean Piaget’s theory of cognitive development suggests that children move
through different stages of mental development.

Assertion II : The process of taking in new information into our already existing schemas is
known as accommodation.

Options :

9139431621,

9139431622,

9139431623.

9129421624,

I is correct, but II is wrong.

Both I and 11 are correct.

Both I and IT are wrong.

I is wrong, but II is correct.

Question Number : 106 Question Id : 913943414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A= 3 oy fau e §, R @ v sTftrepum 12 R gua firem 11 R | o it afen ofit = fn
MY e i TAT T I g |

S 1 : BT 9| 1 541 st 1 fagra gaman 3 7 o= i fara % fafdm =vomi %
qreaq @ T # |

e I : gl vget | & T fyaefimmett # =5 g =6t o 6 s shifdes gt % w9 d
STt et )

Options :

| AferT 11 7Ted 2 |
9139431621. W, ¢

I 311
9139431622, T

1 3T 11 <&t Tad
9139431623, 3 i

1 Ted 2, Afer 11 |
9139431624, ¢ a2

Question Number : 107 Question Id ;: 913943415 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

“Hungry Kya — Dominos” is an example of

Options :

Disjunctive grammar, code mixin
9139431625. = & &

eologism
9139431626,

Unqualified comparatives
9139421627,

Borrowing
9139431628.

Question Number : 107 Question Id ;: 913943415 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
“Zft w1 — PR forant Uk IgrETT 8 2

Options :

ferareren sameRtor, e fism
9139431625.

Ja weefmior

9139431626.
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fort <ftert 3 e

Tl

Question Number : 108 Question Id : 913943416 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion I and the other labelled as
Assertion 11. Read the statements and choose the correct answer using the code given below.

Assertion I : A base is that part of a word to which either inflectional or derivational
morpheme can be attached.

Assertion II : A stem is that part of a word to which only inflectional morpheme can be

attached.

Options :

9139431629.

9139431630.

9139431631.

9139431632.

Both I and IT are wrong.

I is correct, but II is wrong.

I is wrong, but II is correct.

Both I and 11 are correct.

Question Number : 108 Question Id : 913943416 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
e St sy fu e 3, fonlt & o atfirenym 12 ofk qua ifimeum 11 @ | et it wfen sfi i feg
Q%2 Sl ST K Wl IR g |
e 1 : 39N ieg o1 I8 Wt g Foradt fawfrees an sqeardt wftm =t gom e s 7 |
7firre 11 : sifaafes 36 1 98 Wi & Fraw e e sfm Al aem s o 2 1

Options :

9139431629,

9139421630,

9139431631.

9139421632,

IR IS Teia B |

198 3, af 11 Taa B |

ITaT 8, A 1T a1 2 |

I S 11 St a8t § |
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Question Number : 109 Question Id : 913943417 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The macrostructure of the news headline “Alwar lynching : Mahapanchayat seeks
punishment for accused” operates at

Options :

Supression
9139431633,

Backgroundin
9139431634, o

Foregroundin
91389431635. = g

9139431636, psence

Question Number : 109 Question Id : 913943417 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
gurar i ghdat “sraar fafem : wereme 3 i % fre g min Y fea w =il S @ 2

Options :

9139431633.

qESRdfer

9139431634.

Fnrsegfe

9129421635,

Fafeyfe

9139431636.

Question Number : 110 Question Id ;: 913943418 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;
An etymological dictionary discusses

Options :
9139431637 rammatical information of words
9139431638, Evolution of words

9139431639, Pronunciation of words
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Usage of words
9129421640,

Question Number : 110 Question Id : 913943418 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
sqeqfafaTas Segeniy fra 9t forem st 2 2

Options :

H SRR
9139431637, T haal

1 farra-spu
9139431638. =y

<hl =
913943186389. e

Crle o]
9139431640, =y

Question Number : 111 Question Id : 913943419 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion I and the other labelled as
Assertion I1. Read the statements and choose the correct answer using the code given below.

Assertion I : John Catford’s A Linguistic Theory of Translation regards the study of
translation as a branch of contrastive linguistics.

Assertion II : As such translation as a method of research, can be a way of testing principles
since meaning is formed by networks within individual languages thus there being no
questions of translating meaning in any full sense.

Options :

9139431641 Both I and 11 are correct.

I is correct, but II is wrong.
9139431642,

1 is wrong, but II is correct.
913294216453,

Both I and II are wrong.
9139431644,

Question Number : 111 Question Id ;: 913943419 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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e gt oM fRu e 8, fomd @ u srfirepya 12 it gau i 11 3 | et it afee ofit = g
TQ 3 1 FANT F FEl IR T |

STy I : S HePI2 H 3qa1q HT W9 [AgTa IR % I i sqfaten WA 6t
AT % &9 ¥ q=a 2 |

Y 11 : 38 9%, T i U gt % &9 | srarg Rigrat #1 wliam 0 $1 0 a1 gt g 7
it 3o N T rem-are et 3 e S Yool % g Bt R | 3@ wE, o i ot of v
% Y T F A Hi§ TA 81 ¢ |

Options :

I 311
9139431641 T

1 Al I Tea B |
9139431642, W, &

I TTerd B, Aferd 11 |
9139431643, ¢ w2

1 3T 11 <&t Tad
9139431644. 3 i

Question Number : 112 Question Id : 913943420 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following important statement

“The poetic function projects the principle of equivalence from the axis of selection into the
axis of combination. Equivalence is promoted to the constitutive device of sequence ...”
was made by

Options :

91594z gas, Tomardakobsm

M.A. K. Halliday
9139431646,

J. Mukarov
9139431647, sky

V. Shklov
91389431648, sky

Question Number : 112 Question Id ;: 913943420 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks :
FrefaRa wewgel wu=
“HreaTers FRRl T % agia Sl TR % A% d TheE % 3& ° aiga T 3 | ST SN

% gt gy R gaftir A 2 ... 7
forereh g fe T o 2

Options :
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9139431645. T

.U, B

9139431646,

. RIEEh

9139431647

9139421648, .

Question Number : 113 Question Id ; 913943421 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

It was who proposed the theory of Descriptive Translation Studies.
Options :
Anthony Pym
9139431649, d
Eugene Nida
9139431650,
9139431651, 7O Catford
Gideon Toury
9139431652,

Question Number : 113 Question Id : 913943421 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

A % forat Uit TR el + fagra 1 wfearga T 2
Options :

uerft fim
9139431649,

o frer

9139431650

9139421651, .

9139431652. a2

Question Number : 114 Question Id : 913943422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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If the English sentence ‘Having eaten rice, Raju went to sleep’ is translated into most
Indian languages, the first clause will have the structure that is called

Options :

conjunctive participle
9139431653,

relative participle
9139431654, g

compound verb
9139431655,

conjunct verb
9139431656,

Question Number : 114 Question Id : 913943422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

afe it 99 ‘Having eaten rice, Raju went to sleep’ 1 3141 SifRrshat Wrdta wrwiatt & fopa
STat 8, @ Yo Sy # 9 gt et Rl Fgd 2 |

Options :

HASH Fg
9139431653,

9139431654,

9139431655.

9139421656,

Question Number : 115 Question Id : 913943423 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one labelled as Assertion I and the other labelled as
Assertion I1. Read the statements and choose the correct answer using the code given below.

Assertion I : In a Compound Verb Construction, the verb known as ‘Polar’ or V; can never
be conjugated with the subject of the sentence.

Assertion II : The second verb in a compound verb construction which is known as ‘vector’
verb or V, always contributes its meaning in ‘CVC’ (compound verb construction).
Options :

9139431657 Both I and I1 are correct.
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Both I and IT are wrong.
9139421658,

I is correct, but II is wrong.
9139431659,

I is wrong, but II is correct.
9139431660,

Question Number : 115 Question Id ; 913943423 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

= q o g e 3, Formt @ u aiftrrem 13 ok gaa wafdrmm 11 & | et =it v wfen ok R
4T 7T Fe I AR W HG IR A |

37y I : O WY b A, e 1 v % w9 8 S fen ft oft e % v S a
gaifra T8 R S g 2 |

S 11 : O age e = i o fen 5@ Qe e v, ot #ed &,
‘. A& (de B ) § vdT R s AR A R}

Options :

1311
9139431657 T

1 3T 11 <4t Tad
9139431658, 3 i

I AferT 11 7Ted 2 |
91394321659, W, ¢

1 Teld 2, Afed 11 |
9139431660, ¢ a2

Question Number : 116 Question Id : 913943424 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The English sentence ‘I have fever’, when translated into many Indian languages, will
have a subject which is known as the

Options :
Dative subject
9139431661,

Notional subject
9139431662,

Grammatical subject
9139431663,

Functional subject
9139431664,
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Question Number : 116 Question Id : 913943424 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Il T T YR @R R W IR At I el A PR TR R s R A I
g, HET ST 2 |

Options :

Y B

9139431661.

AT B
9139431662

TR JeTd
9139431663.

YehrIfcHh Jevd
9139431664.

Question Number : 117 Question Id ;: 913943425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
Match the items in List I with List IT and choose the correct answer using the code given

below :
List I i
(a) Branching Direction Theory Gl Cresnberg
(b) Language Universals QU e, and Comie
(¢) Head and Dependent-Marking (iii) Venneman
(d) Noun Phrase Accessibility Hierarchy (iv) Dryer
Code:
Options ;
5 ()i v
srsensigge -~ (), (d)-(15)
: bl—(i 5. (i
91394316686, (a)—(iv), (b)—(D), (e)—(iii), (d)—(ii)
S (B o s o
9139431667. (a)iii), (b)-(1), (e)—(iv), (d)—(ii)
iv), (b 1i), i), (d)—(iii
grssagegg v (=L, (€, (d)-(iil)

Question Number : 117 Question Id : 913943425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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et 1% WGl i gt 11 wg1 9 gofora shifrg 3R = 13T 70 F2 71 F4 d g8 98t I A 9
At I g I

(a) TrEH feun Rigrea () i

(b) Tty W (i) = T Hied

(¢) fir 3l anfra atepm (iii) ¥

(d) G Ty ARG WSEHY  (iv) SRR

R :
Options :

9139431665. (a)-(1), (b)—(iv), (e)—(ii), (d)—{iii)

orzsaziess P W BED, (O-HD, ()-(1)

siseqsigas U (U, (), (d-0i)

Question Number : 118 Question Id : 913943426 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one is not an auditory dimension of phonation ?

Options :

9139431669, Loudness

9139431670, el

9139431671, Limbre

Syllabici
9139431672, 7 i

Question Number : 118 Question Id : 913943426 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frefeafias # @ w1 =T 1 sqor et sam T8 2 2

Options :

9129421663,

9139431670.
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9139431671,

9139421672, =

Question Number : 119 Question Id ;: 913943427 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

The concentration of acoustic energy that reflects the way air from the lungs vibrates in the
vocal tract, as it changes its shape, is known as

Options :

9139431673, Tormant

9139431674 I esenant

9139431675, Landwidth

Intensity
9139431676,

Question Number : 119 Question Id : 913943427 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

eqf3eh St 1 Gohegur S 4 T 2 Fob a1 uor ® $wS T 31 Areft a1y 39 R 7 gfEdw & iy
fora yopre wifea Bt 2, 3@ et et 2

Options :

i ¥

9139431673

I

9139431674.

9139431675, L

913942167€.

Question Number : 120 Question Id : 913943428 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A term in phonology that refers to the deletion of the final element in a word is known as

Options :
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9129421677,

9139431678.

9139431679,

9139431630.
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Apocope
Syncope
Aphaeresis

Syncretism

Question Number : 120 Question Id : 913943428 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tafm fagm 4 w1 St sfeq 7w 1 faeie it ffdse w2, 38 #@d 2

Options :

9139421677,

9139431678.

9139431679.

9139431680.

AAn

aife Teee

Question Number : 121 Question Id : 913943429 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Yertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion I and the other labelled as
Assertion 11. Read the statements and choose the correct answer using the code given below.

Assertion I : Strict cyclicity makes crucial reference to information in the representation that
spans the boundary between the current cycle and the preceding one.

Assertion II : Strict cyclicity applies solely within the domain of the previous c¢ycle but
crucially refers to the information supplied by a rule operating on the current cycle.

Options :

91394316351.

91394316382.

91394316383.

Both I and 11 are correct.

I is correct, but II is wrong.

I is wrong, but II is correct.
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Both I and IT are wrong.
9129421684,

Question Number : 121 Question Id : 913943429 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e St A fem e §, Frd & v arfirpum 13 ok gaa sk 11 R | Frt 9 oaiee ot A= fg
T e i FANT R T I g |

S 1 : 5§ Tshiadl Saequl § 39 AT Wl AEedq0l Hohd Al 8 St Ia9T 05 AR Gd 056
fm b dadar |

ey 11 : g wshraan 7a =% & fawa & o Fae an] gar @ | adam w6 % anp gn T Fem
R J&H AT il HEwol Hehd T 2 |

Options :

1311
91394316831 T

| AferT 11 7Ted 2 |
9139431682 W, §

I TTerd B, Aferd 11 |
9139431683, ¢ w2

1 3T 11 <&t Tad
9139431684. 3 i

Question Number : 122 Question Id ;: 913943430 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;
‘ATTMS’ (All India Institute of Medical Sciences) is a word that qualifies the morphological

process of
Options :
blending
9139431685.
9139431636, 2Ppreviation
shortening
9139431687.
acron
9139431688. e

Question Number : 122 Question Id : 913943430 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TR IR .. (TH)’ (ifga yrdt e o) o 78 (v]) & Foraw FesfaRae e
gfsran ufeq @ﬁ % -

Options :
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91294=2168E. fiern

9139431686.

91394316387.

qftafi
9139431688. e

Question Number : 123 Question Id : 913943431 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A verb even in highly inflected language cannof inflect for

Options :

9139431659, Tumber

rson
9139431690, e

gender
9139431691,

9139431692, T

Question Number : 123 Question Id : 913943431 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

uh rcaferen favfwgam wor # oft 6t foren Preferfiae = favifes adff stasar 2 -

Options :

9139431689. TH

9139431690, S

9139421691,

9129421692,

Question Number : 124 Question Id : 913943432 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the explicator compound verbs, the second verbal element goes through a process of
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Options :
infixsti
9139431693, | auon

grammaticalization
9139431694,

9139431695, Deutralization

913843160, comeatenation

Question Number : 124 Question Id ;: 913943432 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

goureh Gy v 1, gua s T Prerfafeas # & fea e & 1w 2 2

Options :

9139431693, TSI

9139421694,

9139431695.

9139431696,

Question Number : 125 Question Id : 913943433 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The term noun declension refers to different forms of a noun with different

Options :
adjective forms
9139431697,
9139431695, Ccase forms
b f.
e A - e
9139431700, derivational forms

Question Number : 125 Question Id ;: 913943433 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks : 0
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gl TeGeY g 39 T3 o faftm w9t ot fPnafafiga 4 o fra so s aru +1 ga w2 2
Options :

9139421697, =

9139431698. w

9139421699, Bren ¥

et €9

9139431700,

Question Number : 126 Question Id : 913943434 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The morphological productivity of an affix must be examined

Options :

9139431701 in its diachronic context

in its synchronic context
9139431702,

in its metalinguistic context
9139431703,

9139431704 Outof context

Question Number : 126 Question Id : 913943434 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fereft s < waTeRs Icargshar o e R frm e A g R 2

Options :

FrAshitrh ged |
9139431701, Ry

T e |

89139431702

FftvraTfasT oM #
9139431703. o

9139431704, Lan
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Question Number : 127 Question Id : 913943435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion I and the other labelled as
Assertion I1. Read the statements and choose the correct answer using the code given below.

Assertion I : Structure dependency asserts that the speaker’s knowledge of language relies
on the linear sequence of items in the sentence rather than on the structural relationships
between elements in the sentence.

Assertion II : Structure dependency principle imposes strong constraints on the notion of
‘possible grammatical rule’ and is an essential feature of universal grammar.

Options :

9139431705, Both I and II are correct.

I is correct, but II is wrong.
9139431706,

I is wrong, but II is correct.
9139431707,

Both I and IT are wrong.
9139431708,

Question Number : 127 Question Id : 913943435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e 3§t oM fau e 8, fomd @ u srfirepya 17 it guu wafieeem 11 3 | et it afee ofit fi= fig
T %2 I AT Tt I AT |

27frere 1 - wean fieat 98 urrat 8 156 <6t 5 W s I 9T 1 et o T s W enaria gt
& 7 for a5 % 71 % 9 G HEY W

e 11 - gea it Ragia annfaa samrofta fam’ % frar w g s amifte +w 2 @ik
7z Qe SarR 1 I e ST # |

Options :

I 3 11 it it £ |

9139431705.

I AferT 11 7Ted 2 |
91394317086, W, ¢

17e1d &, ©ifsp 11 |
9139431707 & aa g

1 3T 11 2t e
9139431708. 3 i

Question Number : 128 Question Id : 913943436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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In the sentence, “The dog ate the bone in the house”, the position of ‘in the house’ X-bar

schema would be

Options :

daughter of V-single bar and sister of V
9129421709,

daughter of V-double bar and sister of V-single bar
9139431710,

daughter of V-single bar and sister of V-single bar
9139431711,

daughter of V-double bar and sister of V-double bar
9139431712,

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this question if any of the correct
options are chosen.

Question Number : 128 Question Id : 913943436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

“The dog ate the bone in the house” 1% #, ‘in the house’ Pt X-aR whimr # feufer Freagan
gt

Options :
9139431705 SIC AP V-RTE AR R R S v

0130431710, SICC I V-3 TR AR et 3 v-fRorat am
913043171y SN P V-Rme 9R iR R o1 V-t w
9139431712, i AT V-3aa TR IR et A% V-39 9/

Note: For this question, ambignity is found in question/answer. Candidate will get full marks for this question if any of the correct
options are chosen.

Question Number : 129 Question Id : 913943437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

is a rule proposed to handle the way constituents permute in free word order

languages.
Options :
Scrambling
9139431713,
Case assignment

9139431714,
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9139431715.

Passgivization

9139431716,
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Question Number : 129 Question Id : 913943437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e T Y% HH WTSIAT # uewh % S s Tfoarfed T 2

Options :

Sheafent

9139421713,

9139431714.

9129421715,

9139431716.

Question Number : 130 Question Id : 913943438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the items in List I with List IT and choose the correct answer from the code given

below :
List I
(a) Principle C

(b) Subjacency

(d) Ross
Code:

Options :

91339431717.

9139431718,

9139431719,

9139431720.

List IT

(1) About R-expressions
(ii) ‘“for all x, it is the case that ...

(¢) Existential Quantifier (iii) Constituent cannot be moved in a
single application across more than
one bounding node

(iv) Co-ordinate structure constraint

(a)-(1), (b)—(ii), (e)-(iii), (d)—(iv)

(a)—(1), (b)—(iii), (¢)—(ii), (d)—(iv)

(a)—(iv), (b)—(ii), (e)—(iii), (d)—(i)

(a)—(iv), (b)-(iii), ()—(ii), (d)—(i)
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Question Number : 130 Question Id : 913943438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T 1% 7S e 11 % e @ g i ik AR R T e S R g e SR R

‘Eﬁ I '@H
(a) Rigra € ) R-sfireafes %ok i
(b) Subjacency (19:RR) (i) ‘qof x 35 ore g v 4 o ...
B TfeTehye | TUHaG A5 fomem =
GHaT B
(&) TE (iv) WU ST 41
%6 :
Options :
sisaiaimiy, b=, (ch-(l), (d)-(v)
9139431718. (a)—(1), (b){iid), (¢)~(ii), (d)(iv)
grsgagryg vk (=, -, (D)
srseasiseg v (D, (oD, {80}

Question Number : 131 Question Id : 913943439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Given below are two statements, one labelled as Assertion I and the other labelled as
Assertion I1. Read the statements and choose the correct answer using the code given below.

Assertion I : Presupposition has been treated as a pragmatic and logical concept.

Assertion II : Presupposition arises because of certain syntactic facts.

Options :

I is correct, but II is wrong.
9139431721,

9139431792 Both I and 11 are correct.

Both I and IT are wrong.
9139421723,

I is wrong, but II is correct.
9139431724,

Question Number : 131 Question Id ;: 913943439 Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : Ne Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

e v e e &, o & o atfirpua 17 iR gaa atfiremu 11 2 | St it afee oft A= g
Q%2 Sl TAT K Tel IR AT |

3Ry 1 : EAT-adT St Gopasrant S aifcheh depedH WHT T 2 |

e 11 : A1 T TAT-aTaTeas qed % HR0 I BT B |

Options :

siEsdsTE, T b b ILTE)
0139431702, oM IGHITAT
9139431723, LT LS TR T |
9139431724, LR 3, ot I8 2 |

Question Number : 132 Question Id ; 913943440 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

The sentence “The policemen observed the lady with the telescope” has the sequence of
words which may be assigned any one of the following structures :

Options :

Attachment ambigui
9139431725. guity

Scope ambigui
9138431726. £ guity

Lexical ambigui
9138431727, gl

Vagueness
91394317286, &=

Question Number : 132 Question Id : 913943440 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

“The policemen observed the lady with the telescope” qTad  ¥6g ’{EET % frafafas o @
Hi-Hl Th YL H G FAT12 2

Options :

9139431725.

913942172€. ™
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yRahidIa FHefHdr
9139431727.

9139431728.

Question Number : 133 Question Id : 913943441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is not true of polysemy ?

Options :

Multiple meanings within a single word.
9139431729,

The different meanings of an expression have a base meaning in common.
9139431730,

The meanings of terms are not related by metaphor or meton 3
9138431731. & y 3 yoy

There are cases of idiosyneratic polysemy.
9138431732 L el

Question Number : 133 Question Id : 913943441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Frafafad § @ s ot Sg-a1dwa 78 2 7
Options :

% a1ef it wg-orewar
SisgasTrg, T R % FeEd 2 |

ag-ade ftreaferat & fafag o w1 anam orf P B 2 |
9139431730,

wg-3refeh el % onef ek A e F Heiferd T A E |
9139431731,

&0 E-3TUHAT o IS 8 |
9139431732, T T &

Question Number : 134 Question Id : 913943442 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following is not true of the Mental Model theory ?

Options :

It is committed to a semantic position in the theory of sematic models.
9139431733,
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A mental model is an internal model of the state of affairs that the premise describes.

9139421734,

It is not an extensional representation of a situation.
9139431735,

Since its inception, the mental model theory has been anchored in formal semantic account.
9139431736,

Question Number : 134 Question Id ; 913943442 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Freafefiaa & &« Hea wisa Rige s A ot a8 22
Options :

013043173z T SR RGN Hiew ¥ vt Rufd % 9 S @ |

0139431734 e Az faga nar I gra aftfe feufe s neara aiza 2 |

9139431735. Y RN e

T gyt @ A e i Rigia s rfdf Riva & PRt w2 )
91394351736,

Question Number : 135 Question Id : 913943443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The motivation for using the English word ‘wife’ instead of an Indian language word by an
Indian language speaker is called

Options :

need-filling
9139431737,

restige
9139431730, B &

calque
9139421739,

9139431740, Structural

Question Number : 135 Question Id : 913943443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
YRt Y71 o Y6l I WIS WTST 5 Y16 % 9gal 70 1 S15¢ Q5% ST i o 1fnror =6t shad
8
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Options :

FETA-GL AT
9139431737.

9139431738.

9139431734.
9139421740,

Question Number : 136 Question Id : 913943444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If a bundle of isoglosses are identified with reference to a particular region, it can be used to

mark a
Options :
dialect geograph
9139431741 e
9139431740 dialectatlas
dialect bound
9139431743, =
9139431744, Sinlect contmvum

Question Number : 136 Question Id : 913943444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

gfe i Tuvma st #1 ayg fordt $ fatiy % qg=m 1 Tohd T & 99 Tt 39T
fafga %t & fo en s awar 2 |

Options :

et T

9139431741

drelt weea
9139431742,

9139431745, eht <t

9139421744, wh
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Question Number : 137 Question Id : 913943445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A region that retains characteristic speech features from an earlier stage of a language,
which have been lost or have undergone greater change in other regions, is called

Options :

9139431745, localarea

9139431746, Toucarea

9139431747 ‘Yensition area

¥
9139431745, o nansarea

Question Number : 137 Question Id ;: 913943445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

T &F S 9T o AR v | 39 faftee 9t sffagmi sl e @m e o aA d @ 15 2
a1 39U WET FATGH IR A 2, I Fd ©

Options :

S5 &

9139431745,

9139421746, u

9139431747. =

fereht =t
9139431748, T

Question Number : 138 Question Id : 913943446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one labelled as Assertion I and the other labelled as
Assertion I1. Read the statements and choose the correct answer using the code given below.

Assertion I : The lexical diffusion theory argues that sound change is phonetically abrupt
and lexically gradual.

Assertion II : The main assumption of this theory is that not all eligible items are affected by
a sound change at the same time.
Options :

9139431749, Both I and I1 are correct.
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I is correct, but II is wrong.
9139421750,

I is wrong, but II is correct.
9139431751,

Both I and IT are wrong.
9139431752,

Question Number : 138 Question Id ; 913943446 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

= § o Gy e 2, ot @ o arfireem 13 ok gua safdrem 11 2 | et =it ufee ofit = fig
T %2 TG T I gAT |

3fier 1 : Tiegahidra Taeror Rigia oo <1 @ o el witad= wafm w0 & @fa ol weendia wa &
it B @ |

e 11 - 7a Tagra i yq@ saaron 98 g 76 ot o v w6 oy @i gieds @ wwife = g
21

Options :

I 311
9139431749, T

I AferT 11 7Tad B |
9139431750. W, ¢

1 7TAq B, Aferd 11 |
9139431751, % w2

I 3T 11 <t Tad
9139431752, 3 g

Question Number : 139 Question Id : 913943447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Strategies which respect the speaker’s or the addressee’s private space, such as asking about
the other’s abilities or wishes rather than presuming to know what they do are called

Options :

degree of indirectness
91389431753,

9139431754 O record

negative politeness
9138431755, 5 o

itive politeness
913894317586. s B
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Question Number : 139 Question Id : 913943447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

gfteal S g F1 F1a § 98 A % T9C gEA h Aarstt 91 Fooiel F 9R H I 9, I a1 At
¥ Fafteer TUS 1 I FAT B, I8 FEd 8

Options :

9139421753, BT St T

fwEa
9139431754, T

9139421755,

9139431756.

Question Number : 140 Question Id : 913943448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

is used as a strategy to establish, cross or destroy group boundaries and to
create, evoke or change interpersonal relations with their rights and obligations.

Options :

Code-switching
9139431757,

Code-mixing
91394=21758.

Language shift
91389431759. guag

Language transfer
9138431760. G

Question Number : 140 Question Id ;: 913943448 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

A o ) T, T R A A FO R o st wadi 1 w9 SRR i
Qi % T goF, STEM A wRafde = % R R e 3w 3 frar R |

Options :

9139421757, e

9139431758. I o
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9139431759. o

9139421760,

Question Number : 141 Question Id ;: 913943449 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Given below are two statements, one labelled as Assertion I and the other labelled as
Assertion I1. Read the statements and choose the correct answer using the code given below.

Assertion I : TAG is a string generating system rather than a tree-generating system.

Assertion II : The set of trees derived in a TAG constitutes the object language.

Options :

9139431761 Both I and 11 are correct.

I is correct, but II is wrong.
9139431762,

I is wrong, but II is correct.
9139431763,

Both I and II are wrong.
9139431764,

Question Number : 141 Question Id : 913943449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fie gt o= T e 7, omd @ w1l 13 =R gt wafdrepe 11 8 | <ot it afen ofk = foT
T %2 Fl AT Tt IR AT |
e I : &0, JaR@-geEwal Sorrelt <t ST & geEehal Jome 2 |
e 11 : &t | sgeqw 9an i Y=g qEG WIS Bl T g |

Options :

I 3R 11 gt ot € |

9139431761.

| AferT 11 7Ted B |
9139431762 W, §

1T B, Afed 11 |
9139431763, ¢ w2

I 3T 11 &4t Tad
9139431764. 3 i

Question Number : 142 Question Id ;: 913943450 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0
Which of the following is nof true ?

Options :

Interpreter scans the entire program and translates it as a whole into machine code,

whereas the compiler translates the program, one statement at a time.
9139431765,

Interpreter doesn’t generate an intermediate object code making it memory efficient,

whereas a compiler generates intermediate object code, hence needing more memory.
9139431766,

Interpreter continues translating the program till the first error is met where it then stops,

whereas the compiler generates error message only after scanning the whole program.
9139431767, prers & d & pYogY

Programing languages like Python and Ruby use interpreters, whereas compilers are used

by programming lan es like C and C++.
9139431768, 2 s S

Question Number : 142 Question Id : 913943450 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
fFrafafas o o s adt 78 22

Options :

FEORX Tl i <t S TRt g iR 3/ ayoiaan 9y %2 A Irfed Fan § walh Fenger Y,

HYA ' TH G99 & TG HT R |
9139431765,

T HEA 9 Fe 1 Gor Tl e @ Frad foe ag wyfa g Y, Safes sramgent wea avg e # g
et ? gafere arfers wyfa it smavasrar 2t 7 |

9139431766,

O T Fl AR T4 T TR} [T § 9« T I8 gelt Ffe 7 firer S <75t 98 %6 et @ <l

e et S o B e F et (i
9139431767 o g e T (HES) Yo FAT |

qraee A weft Sft ghrrfin smerd et s v et 8 Safen Fearge s wan shnfir wmend

SR CIHRCr+Fhgmfrmama g |

Question Number : 143 Question Id : 913943451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the Minimalist Program, selects items from the lexicon and constructs
derivations.
Options :
Computational system

9139431769,
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9139431770, eXeon

Structural description
9139431771,
9139431772 ¥

Question Number : 143 Question Id : 913943451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

firfmferee St e & wel g ¥ oiv sgea P e |

Options :

FECGEIA FoTTet

9139431769

9139421770,

9139431771,

4. 7%,
9139431772,

Question Number : 144 Question Id : 913943452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match the items in List I with List IT and choose the correct answer from the code given

below :
List I List I1
(a) PRO (1) Point of division into PF and LF
(b) Spell Out (ii) Null/Silent DP found in caseless positions
(¢) Logical Form (iii) XP
(d) Maximal Projection (iv) Semantic or Interpretive system
Code:
Options :
SBAST (a)—(i), (b)—ii), (c)—(iv), (d)—(iii)
SR AE (a)—(ii), (b)—(1), (e)-(iv), (d)—(iii)

9139431775. (a)—(1), (b){iid), (¢)~(ii), (d)(iv)
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Note: For this question, ambignity is found in question/answer. Candidate will get full marks for this question if any of the correct
options are chosen.

Question Number : 144 Question Id : 913943452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T 1% wdt =t = 11 % vl @ g hifvr ok R e o 552 1 i @ ge o SR gfec
A I gt 11
(a) .., () 5. .. F T v W g
(b) Te 313 (i) paog et & we Fe/aRe-< 4.
(c) diforhet B (iii) i,
(d) AfRame ST (iv) 2meff o fre=HTars yomedt

%2 :
Options :
sisagsizye B, (chlv), (d-0i)
0130431775 DD (b=, (-, (d-(iv)
sigaarye Ul (M-l - (i)

Note: For this question, ambignity is found in question/answer. Candidate will get full marks for this question if any of the correct
options are chosen.

Question Number : 145 Question Id : 913943453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Given below are two statements, one labelled as Assertion I and the other labelled as
Assertion 11. Read the statements and choose the correct answer using the code given below.

Assertion I : In optimality theory CON provides the criteria in the form of strictly ranked
violable constraints for deciding between candidates.

Assertion II : In optimality theory different rankings of the constraint set in CON reflects
differences in grammar.

Options :

9139431777 Both I and 11 are correct.

I is correct, but II is wrong.
9139431778,
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I is wrong, but II is correct.
9139421779,

Both I and IT are wrong.
9139431780,

Question Number : 145 Question Id ;: 913943453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;
= gt oA fau e 8, Fomd @ u ity 12 o guu i 11 3 | et it afe ofit = fin
T %2 o TET 9 Tl I gAY |

sy 1 : et faga 7 S srvaifEt & = fvkm o fog s w9 1 2ofisa Igoia
A1 % T9 7 JawH Y&= a1 g |

e 11 : Jifceitferdt g d SR’ # sreaa wg==a < faftm aftwt s 3 A< ot gt 8 )
Options :

I3 1Mt adt |

9139431777.

| AferT 11 7Ted 2 |
9139431778. W, §

177 8, Al 11 |
9139431779, g Lk

1 3T 11 2t Tea
9139431780. 2w i

Question Number : 146 Question Id ;: 913943454 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;
Given below are two statements, one labelled as Assertion I and the other labelled as
Assertion II. Read the statements and choose the correct answer using the code given below.

Assertion I : The process of assimilation is captured by the principle of ‘feature spread’ in
Autosegmental Phonology.

Assertion II : The prohibition against identical adjacent elements on the same tier is
captured by the principle of ‘No line crossing’ in Autosegmental Phonology.
Options :

9139431781 Both I and 11 are correct.

I is correct, but II is wrong.
9139431782,

I is wrong, but II is correct.
9139431783,

Both I and IT are wrong.
9139431784,
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Question Number : 146 Question Id : 913943454 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
= q o g e 3, Fort @ u arfirrem 13 iR gua i 11 8 | et =it afgn ot i g
T 3 T TN T I g |
3Ffirery 1 : e wtm fagm i, wfivas i wien S @’ % fem g sl S @ )
e 11 : WrEmEs Wi e 3, 36 9om w then wfieadd o=t i gen 3 sidg

[t @ Wi % e g sferda g g
Options :
9139431781. L3R I3 ¥ & |
I , Afer 11 Teta 2 |
9139431782 2 ¢
1 Teld 2, Afed 11 |
9139431783, ¢ a2
9139431734 1 1R 11 3F 79 8 |

Question Number : 147 Question Id : 913943455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In language standardization, if grammars and dictionaries are developed for this purpose, it

is called

Options :

9139431755, Glaporation

9139431756, Ccodification

913943175y, Sratification
development

9139431788,

Question Number : 147 Question Id : 913943455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
MTST HTehrshor 8, Ife sarentor 2 wecontyr 38 wateM o foru fasnftra forn i €, ot 38 wvet e B

Options :

9139421785,
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HgaTeRt

9139431736.

9139431787.

9139421788,

Question Number : 148 Question Id : 913943456 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

proposed an ethnographic framework which took into account the various factors
that are involved in speaking.
Options :

M.A. K. Halliday
9139431789,

J.J. Gumperz
9139431790,

Dell Hymes
9138431791. #

L. Milroy
9139431792,

Question Number : 148 Question Id : 913943456 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

3 STt watE H S R fem aien d afeifae Rlm st wam R g
Options :

L » %ﬁ
9139431789, g

S, T

9139431790.

A TR
9139431791

uq. Tt
9139431792,

Question Number : 149 Question Id : 913943457 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The specialization of the right hemisphere is particularly important because

Options :
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9139431794,

9139431735.

9139431796,
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It has the neural substrate for language.
It has the neural substrate for both language and sign language.

It is dominant for processing visuospatial relations in sign language and many spatial
relations involved in grammatical processes as well as the manipulation of space by the
signer.

It lacks in dominance for both language and visuospatial processing.

Question Number : 149 Question Id : 913943457 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

aféror Mrend it Rrdresan frde w9 @ weegl § w@ifs

Options :

91394317953.

9139431794.

9139431735.

9139431796,

a0 WS < Tor ey uRae B |

Fam Wt AR goha uTeT gt % forg qey vEaa 2 |

g Ueha WTOT | LI-TYT(h el 3T sATheoft Sishanadt < TnY-|ie Gehdehdl s gIU ST % e 4
FAH TTHF Fadl % THA o Torg 791 7 |

Ta WS 3 gT-eyTiH SRl g1 % Tore e 1 s R |

Question Number : 150 Question Id : 913943458 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Given below are two statements, one labelled as Assertion I and the other labelled as
Assertion 11. Read the statements and choose the correct answer using the code given below.

Assertion I : Language disorders must be included in the quest for the answer to the
question of “‘What is language ’ ?

Assertion II : A language disorder can cause issues with the comprehension and/or use of
spoken, written and other forms of language.

Options :

9139431797.

9139431798.

Both I and II are correct.

I is correct, but II is wrong.
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I is wrong, but II is correct.
9139421799,

Both I and IT are wrong.
9139431300,
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